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- pO 4226+ 0.0
pL -36.19+ 0.00
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TVC(c,b ch) (0 7,9

T inai34/e+04 /25
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p1 -36.81+ 0.00
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-34.3+ 0.0
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TVC(e.b.eh=(0, 11, 11

= pO
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T nuiz 342e+04 [ 25
4216+ 0.0
pl -35.34+ 0.00

TP delay

TVC(c, bch) (0,11,15
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4213+ 0.0
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4206+ 0.0
-36.8 + 0.0
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= pO 4226+ 0.0
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TVC(Cbch) (0, 12 11
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= pO 4252+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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- i vsbe+ud [ 25
= pO 4231 0.0
p1 -36.37 + 0.00

TP delay [ns]
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TVC(eb.ch)=(0, 13,7
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- pO 4253+ 0.0
p1 -36.68+ 0.00

50 160
TP delay [ns]

TVC(cbeh)=(0, 13, 11

- 1 nug boYe+ud / 25
- pO 4304+ 0.0
pl -35.85+ 0.00
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TVC(cbch) (0.14,6

Tanu 1./e+04 /25
== pO 4208+ 0.0
[ pl -34.17 + 0.00

- C = 29.27 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

© 1, rg4e+04 | 25
= po 4233+ 0.0
o pl -36.13+ 0.00

TP delay [ns]
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~ 1 nuiLyose+u4 / 25
- pD 4242+ 0.0
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p1 -35.34+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- nun 1 pve+ud [ 25
- pO 4208+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(ehch)=(0, 14, 11

Tinuzs1/e+u4 /25
= po 4232+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T inaigae+u4 /25
- po 4246+ 0.0
p1 -37.48 + 0.00

TP delay [ns]
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.. pO 4196+ 0.0
pl -33.76 + 0.00

1
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TP delay [ns]

TVC(cbch) (0,154

- 1 1L 448e+04 25
- pO 4211+ 0.0
pl -36.15+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

T z0ze+u4 /25
= po 4220+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

~rnuiLyuve+u4 / 25
= po 4231+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(chh) (0,15,1)

AT rnuLsize+ud [ 25
4000 [ po 4194+ 0.0
pl -33.22+ 0.00

3000 |- =
2000 = N
w00 C = 30.10 [ps/ch] -]

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000
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-1 nui bz4e+u4 [ 25
pO 4213+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

T nu. 38 /e+u4 / 25
4000 em, pO 4258+ 0.0
pl -35.53 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13
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~ 1 nuiL pbbye+ud / 25
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TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

- Ui bb3e+ud / 25
- pO 4219+ 0.0
[ pl -36.57 + 0.00

K™ 1nuiLoyre+ud /25
- po 4218+ 0.0
o pl -35.46+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

©1nuig.ugYve+u4 | 25
-, po 4278+ 0.0
- pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T bsse+u4 [ 25
- pD 4219+ 0.0
L pl -34.54 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)
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po 4212+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui B31e+u4 / 25
- pO 4235 0.0
pL -36.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.92 [ps/ch]

T nuiz.z45e+04 25
pO 4254+ 0.0
p1 -34.58 £ 0.00
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50 100

TP delay [ns]

TVC(cbch) (0,15,15

T nui poye+ud / 25
- po 4228+ 0.0
p1 -35.07 + 0.00

TP delay [ns]
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- =g, 1)449+UA /25
b, po 4166+ 0.0
pl -36.11 + 0.00
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (1 0,8)
~ 1 nuz,Upge+ud / 25
= po 4190+ 0.0
-34.5+ 0.0

p1

TP delay

TVC(cbch) (1,0,12

b, po
p1

[ns]

- 1 nuiL, (oYe+u4 [ 25
4202+ 0.0
-35.1+ 0.0
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4187+ 0.0
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TP delay [ns]

TVC(c,b ch) (1, O

S nui /o/e+u4 [ 25
4175+ 0.0
-35.58 + 0.00

TP delay [ns]
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~ 1 nug.y4se+ud [ 25
4211+ 0.0
-34.7+ 0.0

1
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TVC(c,b Ch) (1, O 13

Tinuis41e+u4 /25
4202+ 0.0
-36.09 + 0.00
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=/ nuig,
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lo8e+U4 | 25
4185+ 0.0
-35.57 + 0.00
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50 100

TP delay [ns]

TVC(eb,oh)=(1, 0, 10

= "

-1 nu 533e+04 [ 25
4229+ 0.0
-34.9+ 0.0
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1 nui ysse+U4 [ 25
4215+ 0.0
-37.41+ 0.00
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-36.49:+ 0.00
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TP delay [ns]

TVC(c,b ch) (1 0,7

e, pO
p1

-1 nui Bo3e+u4 / 25
4196+ 0.0
-36.44 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, O

e pO

T, uye+u4125
4237+ 0.0
-35.62 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, O 15

= pO

- nuzuzse+ud [ 25
4208+ 0.0
-36.56 + 0.00

TP delay [ns]
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AT 1nuiLolse+ud /25
P po 4177+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (11,4

-1 1ape+ud | 25
= pO 4177+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

T Lyze+ud /25
= po 4196+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (1,1,12

~ 1L poze+u4 | 25
- po 4212+ 0.0
pl -36.44 + 0.00
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TVC(cbch) (1,1,1

AT rnunLruze+ud [ 25
Fee,, po 4197+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui blye+ud / 25
4194+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

~ 1 nu.380e+U4 / 25
4220+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inuiLby/e+ud [ 25
== pO 4205+ 0.0
pl -36.87 + 0.00

TP delay [ns]
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TP delay [ns]

TVC(cbch) (11,6

K™ 1 nui nq40e+04 / 25
__- po 4197+ 0.0
o pl -35.39+ 0.00

3000

S i1 bye+ud [ 25
- pO 4203+ 0.0
[ pl -36.08+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

1 nuzbyve+u4 | 25
= po 4228+ 0.0
L -34.51+ 0.00

- C = 28.97 [ps/ch]
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T gzse+u4 [ 25
4215+ 0.0
-36.91+ 0.00
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TVC(c,b ch) (1 1,7

-1 nui b33e+u4 / 25
4203+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuiz.usze+ud [ 25
- pO 4231+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nui psze+ud [ 25
= pO 4206+ 0.0
p1 -35.34+ 0.00

TP delay [ns]
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- i b34e+04 / 25
e, pO 4214+ 0.0
pl -35.95 + 0.00
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TP delay [ns]

TVC(ebch)=(1,2,8

©1nuz.430e+04 / 25
= po 4198+ 0.0
pl -35.03+ 0.00
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T rnuizprye+ud | 25
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., po 4197+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

- 1nui /zoe+u4 [ 25
pO 4233+ 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

Tinun 4. 80e+04 1 25
po 4220+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

~ 1 nuiz.usse+ud / 25
pO 4239+ 0.0
pl -37.32+ 0.00
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AT nun4sse+u4 /25
o=, po 4210+ 0.0
- pl -35.78 + 0.00
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TP delay [ns]

TVC(cbch) (1,26

“ i 710e+04 / 25
- pO 4241 0.0
[ pl -36.04 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

©1nuz 3lpe+u4 [ 25
= po 4229+ 0.0
- pl -35.23+ 0.00

TP delay [ns]
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-, pD 4240+ 0.0
L pl -36.28+ 0.00
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=3 po 4204+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(cbch) (1,27

-1 nui ya4e+04 / 25
- pO 4238+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T, 1ue+u4/25
= po 4252+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

-1 nuiz.oboe+ud / 25
= pO 4236+ 0.0
p1 -36.28 + 0.00

TP delay [ns]
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T Loae+ud /25
pO 4207+ 0.0
p1 -37.29+ 0.00

TP delay [ns]
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T L broe+ud [ 25
b pO 4202+ 0.0
p1 -37.26 + 0.00
[ C=26.84[psl/c ]
1 1 -'.
50 100
TP delay [ns]
TVC(cbch) (138)
©1nu pobze+u4 [ 25
e, pD 4231+ 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(cbch) (1,312

Tl rse+u4 /25
pO 4195+ 0.0
pl -33.48+ 0.00

[ C =29.87 [ps/ch]
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' po 4208+ 0.0
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TP delay [ns]

TVC(c,b ch) (1, 3

-1 nu B3se+u4 / 25
pO 4233+ 0.0
pL -38.53+ 0.00
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TP delay [ns]

TVC(c,b ch) (1 3,9

T nu szbe+u4 25
po 4249+ 0.0
-36+ 0.0
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50 100

TP delay [ns]

TVC(c,b Ch) (1, 3 13

T nuiLp3ae+ud 25
pO 4196+ 0.0
p1 -33.6+ 0.0

[ C =29.76 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

A7 1 nui oyse+ud / 25
po 4211+ 0.0
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- i By3e+ud / 25
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©1nuz zope+ud | 25
po 4271+ 0.0
pl -35.93+ 0.00

TP delay [ns]
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- o1y1/25
pD 4193+ 0.0
pl -33.52+ 0.00

- C = 29.84 [ps/ch]
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pO 4238+ 0.0
p1 -37.98+ 0.00

TVC(c,b ch) (1, 3

50 100
TP delay [ns]

T 945e+u4/25
pO 4254+ 0.0
pl -35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3 15

-1 nuiL byoe+ud / 25
pO 4200+ 0.0
-34.18 + 0.00

[ C =29.26 [ps/ch]
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TVC(cbch) (14,4

T rg/e+ud [ 25
4204+ 0.0
-35.1+ 0.0

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T rnug.z41e+04 /25
- pO 4244+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (1,4,12

~rnuizuLoe+u4 / 25
= po 4209+ 0.0
pl -35.03+ 0.00
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A~ 1 nuiLbuge+u4 [ 25
F po 4226+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

- 1 nuiL bgoe+ud / 25
== po 4218+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu.Bzbe+u4 [ 25
- pO 4271% 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T inuizus/e+ud [ 25
— pO 4218+ 0.0
pl -35.97 + 0.00
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TVC(cbch) (14,6

- rnuz 130e+04 / 25
4223+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(ebeh)=(1, 4, 10

© 1 nuig.4z8e+04 [ 25
- po 4291+ 0.0
- pl -37.49 + 0.00
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- pD 4221+ 0.0
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TVC(c,b ch) (1 4,7

= 1 nui gsve+ud | 25
= po 4229+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nuzsuse+ud [ 25
- po 4279+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

-1 nui yyye+ud / 25
- po 4213+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A1z usoe+ud [ 25 A~ 1z lple+ud | 25 A™ 1z 485e+04 | 25 A~ 1wz ybye+ud | 25

4000 e, PO 4193+ 0.0 4000 [Fonee po 4197+ 0.0 4000 _=— po 4202+ 0.0 4000 - po 4211+ 0.0
pl -35.74+ 0.00 pl -35.54 + 0.00 r pl -35.77 + 0.00 pl -35.18+ 0.00

3000

1 3000 =1 3000 -1 3000 - -1

2000 -1 2000 - 2000 =1 2000 -

1000 1 1000 =1 1000

] woo- C = 28.42 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (15,5 TVC(cbch) (1,56 TVC(c, bch) (15,

S, I)l‘:)eﬂJA 125 “narg, /)4HE+04/25 “narg, I)ﬁﬁe+U4 125 T nar 2bde+l)4/25
4000 4226+ 0.0 4000 pO 4226+ 0.0 4000 e, pO 42431 0.0 4000 [ pO 42451 0.0
-36.1% 0.0 pL -36.19+ 0.00 3 pl -36.83+ 0.00 pL -35.67+ 0.00

3000 E 3000 E 3000~ ] 3000 B

2000 E 2000 - 2000~ ] 2000 [ -

1000 C = E [ ]

1000 E 1000 — rC=27.15 [pS/Ch ] 1000 C = 28.03 [pS/Ch
I L5 oL I L = I =
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
Tnun g oe+u4 /25 - i 1ube+us / 25 Tnun4.03e+04 /25 T rug.u14e+u4 / 25
4000 e, pO 4237+ 0.0 4000 [, pO 4261+ 00 4000 [, DO 4275500 4000 fam, p0 4282+ 0.0
Pl -36.49+ 0.00 Pl -36.31% 0.00 [ PL_ -37.06% 0.00 Pl -37.02% 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 - 2000 -1 2000

1000 E 1000 - 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
1z, sope+u4d / 25 T inuz zose+ud [ 25 ~ 1z zose+u4 | 25 Tnui g rse+ud [ 25
4000 f pO 4253+ 0.0 4000 e, pO 4249+ 0.0 4000 f, PD 4247+ 0.0 4000 fi, pO 4258+ 0.0
pl -36.05 + 0.00 pl -35.92+ 0.00 + pl -35.63 + 0.00 pl -35.72+ 0.00

3000

T 3000 _ 3000 - 3000 .

2000 . 2000 _ 2000 1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A1,

13ve+u4 /25
4195+ 0.0
-37.22+ 0.00

TP delay [ns]

TVC(cbch) (1,6,4

/14e+04 / 25
4222+ 0.0
-36.87 + 0.00

Fe. po/ o
pl
- C -1
% =
TP delay [ns]
TVC(c,b ch) (1, 6 8

© g, 3ove+u4 | 25
4223+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,6,12

pO
p1

1 nuiz,ugoe+ud / 25
4233+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

=, po

AT rnuLzize+ud [ 25
4199+ 0.0
-36.76 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nun Bz3e+u4 [ 25
4219+ 0.0
-36.3 % 0.0

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

pl

T nu.zy/e+ud [ 25
4242+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(C, bch) (1,6,13

T a1 rse+ud [ 25
4230+ 0.0
-36.56 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,6,2)

1000

™, po

A~ 1 nuzuzie+u4 /25
4207+ 0.0
-37.57 + 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

Srnuan 1 ge+ud [ 25
- pO 4222+ 0.0
[ pl -35.77+ 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- o

© 1 nuig.zove+u4 [ 25
4257+ 0.0
-35.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

T L yise+u4 / 25
4224+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e pO

pl

T LBse+ud [ 25
4214+ 0.0
-36.01+ 0.00

TVC(c,b ch) (1 6,7

pO
pl

1
100

TP delay [ns]

-1 nui groe+u4 / 25
4221+ 0.0
-35.22+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T zs/e+u4/25

4248+ 0.0
-34.79+ 0.00

[ C =28.75 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,6,15

T nuiz 130e+u4 / 25
4216+ 0.0
-36.29+ 0.00

TP delay [ns]



TVC(cbch)(l?O) TVC(cbch)(l7l) TVC(cbch)(172) TVC(cbch)(173)
A” i buze+ud [ 25 A~ 1w pbye+ud | 25 A” 11 5z0e+04 [ 25 1 1 ove+ud | 25
4000 e, PO 4187+ 0.0 4000 - po 4204+ 0.0 4000 __- po 4197+ 0.0 4000 e po 4214+ 0.0
pl -35.54 + 0.00 pl -36.44 + 0.00 : pl -35.67 + 0.00 pl -36.72+ 0.00

-1 3000

3000 -1 3000

-1 3000

2000 -1 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 4) TVC(c,b Ch) (1, 7 ) TVC(c,b Ch) (1, 7 6) TVC(c,b Ch) (1, 7 )
T L 3/0e+u4 / 25 -1 4p9e+04 / 25 -1 nuiL458e+04 / 25 - nui oee+u4 / 25
4000 fom, pO 4198+ 0.0 4000 e, pO 4196+ 0.0 4000 e, pO 4241 0.0 4000 e, pO 4223+ 0.0
Pl -36.89: 0.00 Pl 36,67 000 [ pl -37.11% 0.00 Pl -37.38+ 000
3000 - 3000 =1 3000 :— —: 3000 -
2000 - 2000 - 2000 3 2000 - -
wol C = 27.10 [ps/c . 1000 . wof C = 26.95 [ps/ch . woof C .
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 8) TVC(c,b Ch) (1, 7 9) TVC(c,b, Ch) (1, 7 10) TVC(c,b Ch) (1, 7 11)
T nuob/e+u4 [ 25 -1 nun.yuye+u4 / 25 Tnun2.53e+04 /25 - i y1be+u4 / 25
4000 e pO 4220+ 0.0 4000 pO 4222+ 0.0 ) DO 4229+ 0.0 4000 P, p0 4241 0.0
Pl 3653 0.00 Pl -35.85:0.00 [ pl 36+ 0.0 Pl -36.66: 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0, 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(l?l ) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)
~ 1 nuiLoyye+ud / 25 T 1w bage+u4 [ 25 ~ 1 nuiL4p0e+04 / 25 T 1 4o8e+U4 [ 25
4000 k=, pO 42294 0.0 4000 pO 4230£ 00 4000 o, PD 4225+ 00 4000, pO 4233£ 00
pl -35.56 + 0.00 pl -36.49+ 0.00 r pl -35.55+ 0.00 pl -35.74 + 0.00
3000 e 3000 B 3000 — 3000 B
2000 e 2000 T 2000 — 2000 B

1000 4 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

AT 1nuiLso/e+ud /25
P po 4176+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (18,4

- UL dasze+u4 [ 25
== po 4215+ 0.0
pl -37.93+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

1z 2u4e+04 [ 25
= po 4206+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (1,812

~ 1L ys4e+u4 / 25
= po 4241+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nuiLsbye+ud [ 25
oo, po 4204+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nui S540e+ud / 25
== po 4207+ 0.0
pl -37.46 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

T nu.go/e+u4 25
= po 4233+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

TinuiLo//e+ud [ 25
- pO 4222+ 0.0
p1 354+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

K™ 1nuzulye+ud /25
- po 4206+ 0.0
L pl -36.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,86

T 1b4e+04 /25
-, pO 4210+ 0.0
- pl -37.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

©1nuzpzoe+u4 | 25
= po 4244+ 0.0
- pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

Ty oe+ud /25
- pD 4240+ 0.0
[ p1 -37.18+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L ryze+ud [ 25
- po 4210+ 0.0
pl -36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

= 1nui bz /e+ud [ 25
= po 4211+ 0.0
pl -37.26+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T use+u4/25
= po 4238+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

T nui oy /e+ud [ 25
e po 4240+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



TVC(c,b Ch) (1,9,0) TVC(c,b Ch) (1,9,1) TVC(c,b Ch) (1, 9 2) TVC(c,b Ch) (1,9,3)
K- 154 (e+04 ] 25 K- 1L dzae+Ud | 25 s yoa1] 25 X~ 1L dove+ud | 25
4000 e, po 41974 0.0 4000 fmee,, pO 4207+ 0.0 4000 e, PO 4203+ 0.0 4000 [, po 4236+ 0.0
Pl -36.22+ 0.00 Pl -35.94% 0.00 b PL_ -36.34% 000 Pl -38.17%0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,94 TVC(cbch) (19,5 TVC(cbch) (19,6 TVC(c, bch) (19,7

T rnuiL34/e+04 / 25 -1 bo3e+ud [ 25 - rnuiby1e+u4 / 25 - nun bzge+u4 [ 25
4000, pO 4212+ 0.0 4000 e, pO 42251+ 0.0 4000 e pO 4232+ 0.0 4000 e, pO 4236+ 0.0
pl -36.30 + 0.00 pL -36.84 + 0.00 3 pl -37.07:+ 0.00 pL -36.15+ 0.00

3000~ T 3000~ B 3000 [~ B 3000 T

2000 4 2000~ - 2000~ - 2000 - -

1000 C - 1000 C - 1000_—C = 26.98 [pS/Ch ] 10001 C -

- - [ - ] --
- - - -
0, 1 1 0, 1 1 = 0, 1 1 = 1 1
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 9 8) TVC(c,b Ch) (1, 9 ) TVC(c,b, Ch) (1, 9 10) TVC(c,b Ch) (1, 9 1)
T nuiLb4/e+04 /25 T b.yge+u4 / 25 ~ 1, (9ge+ud | 25 - i gbbe+u4 [ 25
i pO 4183+ 0.0 4000 pO 42154 0.0 e DO 4232+ 0.0 4000 P, 4224+ 0.0
Pl -34.04% 0.00 Pl -34.77%0.00 b PL_ 3569+ 0.00 -34.23% 0.00

- 3000

3000~ 1 3000 - 3000

2000~ E 2000 . 2000 2000 -

- 1000 E 1000

w00 C = 29.38 [ps/ch] lo00r C = 29.21 [ps/ch] ]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
0 50 100

TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
L puse+u4 / 25 T nuin4ze+ud [ 25 T rnuiLb1ze+u4 /25 T nai bzze+u4 [ 25
000 b, pO 4200+ 0.0 4000 fo, 4197+ 0.0 4000, PD 4203 0.0 4000 o, 4211+ 0.0
pl -34.87 + 0.00 -34.26+ 0.00 I pl -35.43 + 0.00 -34.39 + 0.00

3000

T 3000 - 3000 T 3000 = -1

2000 B 2000 - 2000 2000

1000 1000

1o C = 29.19 [ps/ch] ] oo C = 29.08 [ps/ch] §

PR BRSNS |
50 100

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T L oane+U4 [ 25
.. pO 4200+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (1,104

- i zzge+u4 [ 25
- pO 4188+ 0.0
p1 -34.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T rnuizyize+u4 | 25
= po 4232+ 0.0
pl -37.38+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

~ 1L 4ope+u4 / 25
= po 4226+ 0.0
-34.02+ 0.00

TVC(chh) (1,10,1)

3000

2000

1000

A1 szae+ud [ 25
4000 [ po 4216+ 0.0
pl -35.96+ 0.00

TP delay [ns]

TVC(c, bch) (1,105

4000 (S

3000 -

2000

1000 [~

- nui bloe+ud / 25
pO 4188+ 0.0
p1 -35.24+ 0.00

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 10,9

4000

3000

2000

1000

Tinug1g/e+ud [ 25
4238+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (110,13

4000 &,

3000

2000 -

-1 nur 1 g0e+04 [ 25
pO 4230+ 0.0
p1 -33.06 + 0.00

[ C =29.40 [ps/ch]

PR B SRS |
50 100

TP delay

[ns]

00 C = 30.25 [ps/ch] ™

P ISR |
50 100

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 10 2)

T sr1e+u4 /25
- pO 4203+ 0.0
- pl -35.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

T rnuiL4z3e+04 [ 25
- pO 4207+ 0.0
[ pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

Tz 1z(e+04 /25
= po 4255+ 0.0
- pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (110,14

Ty r1e+ud /25
. pD 4231+ 0.0
L pl -35.04 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

A1 nwuiL44ye+U4 [ 25
=, po 4200+ 0.0
pl -34.74+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

- 11 480e+04 / 25
- pO 4220+ 0.0
pL -35.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(1, 10, 11

-1 nui gyve+ud 25
= po 4280+ 0.0
p1 -38.41+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

T nui vz3e+ud [ 25
F=. 4215+ 0.0
-33.79+ 0.00

[ C =29.59 [ps/ch] ]

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 nuiosse+ud [ 25
o= po 4203+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,114

Tnun1.43e+04 /25
- pO 4208+ 0.0
pl -35.92+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

T 1nug.445e+04 / 25
= po 4230+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X1 r33e+04 /25
= po 4243+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1 nuiLoae+u4 [ 25
.. po 4213+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

-1 nui b34e+u4 / 25
- pO 4204+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

<1 1ub, gUbe+U4 / 25
= po 4256+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inai szze+ud [ 25
pO 4241% 0.0
pl -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 11 2)

T s1e+u4 /25
__- pO 4228+ 0.0
[ p1 -37.44.+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

T il 8ze+04 [ 25
- pO 4223+ 0.0
[ pl -36.23+ 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

1000

0

X7 1 nuizsuYe+u4 / 25
- po 4274+ 0.0
- pl -37+ 0.0

TP delay [ns]

TVC(cbch) (1,11, 14

X1 szse+04 [ 25
e, po 4237+ 0.0
[ p1 -37.41% 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1L sUbe+u4 [ 25
- po 4230+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

=1 nui buze+u4 / 25
- pO 4233+ 0.0
-36.1% 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

-1 nuiz.4ause+u4 [ 25
- po 4277+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (111,15

Tnuig1ze+ud [ 25
e pO 4247+ 0.0
p1 -37.6+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

- s7oe+u4 [ 25
=N pO 4157+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 4

- L3 75e+04 / 25
= pO 4174+ 0.0
p1 -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1,12,8

- 2.4ve+ud | 25
b pD 4200+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 12

- o zze+04 [ 25
po 4196+ 0.0
p1 -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

A1 L alag+Ud ] 25
. po 4166 + 0.0
pL -35.3+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 12 5

T nun146e+04 /25
= po 4187+ 0.0
pl -35.63 + 0.00

50 150
TP delay [ns]

TVCEebeh)=( 1, 12,9

-/ 5 4ye+ud | 25
- pO 4205+ 0.0
pL -34.41+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 13

_ - L oybe+Ud | 25
= pO 4194 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

X~ 1L 53ze+04 [ 25
- po 4176+ 0.0
L pl -35.01+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 12 6

1 nuiL488e+04 / 25
- pO 4186+ 0.0
- pl -35.43 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

- huizosAe+U4 | 25
F- pO 4226+ 0.0
[ pl -35.66+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 14

- 1 i yyYe+u4 [ 25
pD 4210+ 0.0
pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

A1 Ui syae+ud | 25
e po 4182+ 0.0
pL -34.54+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 7

= 1 nui a09e+04 / 25
= po 4200+ 0.0
p1 -35.63+ 0.00

50 160
TP delay [ns]

TVC(eheh)=(1, 12, 11

-1 nuiz.ysze+ud / 25
= pO 4218+ 0.0
p1 -34.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 15

_ - 1 i 480e+04 / 25
4198+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

X~ 1y zave+U4 [ 25
PO 4207+ 0.0
pl -37.64 + 0.00

TP delay [ns]

TVC(cbch) (1,134

- i b33e+u4 / 25
pO 42141 0.0
pl -35.34  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

wr o ze+04 /25
- PD 4198+ 0.0
pl -34.36 + 0.00

TP delay [ns]

TVC(cbch) (1,13,12

T i, rg4e+04 / 25
- PO 4254+ 0.0
pl -36.7 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

A g,

e, po

pl

r52e+u4 [ 25
4207+ 0.0
-37.04 % 0.00

TP delay [ns]

TVC(c, bch) (1,13,5

Sl

11re+04 125
4227+ 0.0
-35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1,13,9

. Hquuue+u4/25
4255+ 0.0
-34.86 + 0.00

TP delay [ns]

TVC(cbch) (113,13

e, pO
p1

T inuiLs1oe+ud [ 25
4257+ 0.0
-37.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,13,2)

TP delay [ns]

TVC(cbch) (1136

X~ 1 i, sove+U4 [ 25
Fom, po 4207+ 0.0
I pl -36.93 + 0.00

3000

T bl/e+ud [ 25
- pO 4236+ 0.0
3 pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

T nuglu/e+ud / 25
F DO 4267+ 0.0
- pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (1,13, 14

1000

Tl or4e+u4 [ 25
- PD 4239+ 0.0
I pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,3)

[Foten po

AT 1 nuws.2rse+u4 [ 25
4229+ 0.0
pl -36.43+ 0.00

TP delay

TVC(c, bch) (1,137

= pO

[ns]

-1 nui gooe+u4 / 25
4242+ 0.0
-36.5+ 0.0

TP delay

TVC(ebeh)=(1, 13, 11

e, pO

[ns]

~ 1 nuiz 3uYe+ud 25
4261+ 0.0
pl -36.04 + 0.00

TP delay

TVC(cbch) (1,13,15

e pO
p1

[ns]

T ra4e+04 [ 25
4259+ 0.0
-37.2+ 0.0

TP delay

[ns]



TVC(ebeh)=(1, 14,0)

4000 [

- 1uuiLazoe+04 [ 25
4203+ 0.0
p1 -36.93+ 0.00

3000

2000

1000

TP delay

TVC(e.b.ch)=( 1, 14, 4

[ns]

. =1 :;/)yeﬂJA 125
E pO 4180+ 0.0
pl -35.99 + 0.00
3000 7
2000~ ]
1000 C ]
-
-
-
1 1
o 50 100
TP delay [ns]
TVC(eb.ch)=(1, 14,8)
. - 1 nuis.paze+u4 [ 25
E pD 4176+ 0.0
pl -33.34+ 0.00
3000 - ]
2000~ ]

w00 C = 29.99 [ps/ch]

1
. 50 100

TP delay

TVC(ebe)=(1, 14, 12

4000 e, po

[ns]

-1 o7e+ud [ 25
4263+ 0.0
p1 -37.03+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebe)=(1, 14, 1)

e PO

A” 1 uiLgoze+Ud [ 25
4197+ 0.0
-36.29 + 0.00

p1

TP delay [ns]

TVC(c, bch) (1,14,5

X~ g,

- pO

pl

138+V4 125
4194+ 0.0
-37.3+ 0.0

I C =26.81 [ps/c

1
50 100

TP delay [ns]

TVC(eb.eh)=(1, 14, 9

= "0

-1 nuy.z2/e+04 [ 25
4202+ 0.0
-35.21+ 0.00

pl

TP delay [ns]

TVC(eheh)=(1, 14,13

- 1 Uil boBe+U4 | 25
4256+ 0.0
-37.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(ebeh)=(1, 14, 2)

Fe o

X1 nuiLoYse+U4 [ 25
4216+ 0.0
Pl -36.87+ 0.00

TP delay

TVC(e.b.eh)=( 1, 14,6

pO
p1

[ns]

- i 51e+04 / 25
4178+ 0.0
-36.67 + 0.00

TP delay

TVC(e.b.eh)=( 1, 14, 10

= b

[ns]

g 150e+04 / 25
4226+ 0.0
pL -34.97 + 0.00

TP delay

TVC(ebeh)=(1, 14, 14

1000

- o

[ns]

- 1L 403e+04 [ 25
4264+ 0.0
p1 -37.15+ 0.00

TP delay

[ns]

TVC(ebeh)=(1, 14, 3)

R™ 1L 5Z0e+U4 [ 25
4233 0.0
Pl -37.23+0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(eb.eh)=(1, 14,7

4000 PU

[ns]

- 1 nur glve+ud | 25
4202+ 0.0
p1 -36.35+ 0.00

3000

2000 -

1000 C

50 1(;0
TP delay

TVC(ebch)=(1, 14, 11

4000 £ p0

pl

[ns]

1 s15e+U4 | 25
4216+ 0.0
-34.43+ 0.00

3000 -

2000 =

1000 C = 29.04 [pS/Ch]

1
50 100

TP delay

TVC(ebeh)=(1, 14, 15

4000 [ PO

[ns]

-1 UL oo re+u4 | 25
4258+ 0.0
p1 -36.73+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuiLsuLe+U4 / 25
4208+ 0.0
-38.11 + 0.00

-
50 100

TP delay [ns]

TVC(cbch) (1,154

- 1 i boze+ud / 25
- pO 4228+ 0.0
pl -36.62:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T rnuizusle+u4 [ 25
- po 4228+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T, r3oe+u4 / 25
= po 4235+ 0.0
pl -35.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

. PO

AT rnuiL r11e+u4 /25
4211+ 0.0
pl -37.42+ 0.00

TP delay [ns]

TVC(cbch) (1,155

- pO

- 1nui4lze+04 [ 25
4231+ 0.0
pl -36.36 + 0.00

TP delay

TVC(c, bch) (1, 15 9

= po

[ns]

T nun s8/e+u4 / 25
4261+ 0.0
pl -36.49 + 0.00

TP delay

TVC(cbch) (115,13

= po

[ns]

Tinai g /4e+u4 [ 25
4232+ 0.0
pl -35.56 + 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

K™ 1 nui roye+u4 / 25
_l' - po 4231+ 0.0
L pl -38.33+ 0.00

3000

-1 i bB4e+u4 [ 25
- pO 4233 0.0
[ pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T zgle+ud /25
- DO 4275+ 0.0
- pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (115 14

- nar 3538/25
[, pO 4239+ 0.0
[ pl -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1L roze+ud [ 25
4220+ 0.0
pl -36.96 + 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

=1 nui bule+u4 / 25
4234+ 0.0
pl -35.43+ 0.00

TP delay

TVC(eh.eh)=(1, 15, 11

- pO

[ns]

~ 1 nuiz.19ge+u4 / 25
4293+ 0.0
p1 -36.46 + 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

T nuiL s oe+ud [ 25
4238+ 0.0
p1 -35.35+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0)

X~ 1 suze+U4 [ 25
po 4209+ 0.0
p1 -37.71+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

IIug.51/e+U5 [ 25
o, po 4196+ 0.0
pl -34.84 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 0,8

T 1ug.pase+Us / 25
4188+ 0.0
-35.1+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (2,0,12

T 1L 3oze+U6 / 25
= po 4206+ 0.0
p1 345+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

A7 1 nuiLBBoe+U4 [ 25
F... po 4223+ 0.0
p1 -37.56 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

“nu, rz2ze+U5/ 25
F 4196+ 0.0
-34.55+ 0.00

[ C =28.95 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (2 0,9

~ 1 nuiL 3gbe+U5 / 25
- pO 4204+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, O 13

Tinun p.ze+U5/25
= pO 4226+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,0,2)

X~ 1 i 9sse+u4 [ 25
F... po 4217+ 0.0
[ p1 -36.62:+ 0.00

3000

TP delay [ns]

TVC(cbch) (20,6

1000

- rnuig lo1e+U5 / 25
- pO 4218+ 0.0
[ pl -35.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 0, 10

T 1nug zole+Us / 25
- po 4231+ 0.0
L pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (2,0,14

~ 1L gase+U5 / 25
4222+ 0.0
-35.21+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3)

po
pL

A1 nuizuaze+ud | 25
4210+ 0.0
-36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,7

o= pO
p1

- nui 374e+06 / 25
4211+ 0.0
-34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2, O

= pO

AR bb::e+u6/25
4242+ 0.0
-36.22 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2,0,15

A1 nan s,

= PO

yre+u7/25
4193+ 0.0
-34.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

A~ 1 nuiz,uzse+U6 / 25
- po 4227+ 0.0
p1 -40.37 + 0.00

=
50 100

TP delay [ns]

TVC(cbch) (21,4

- iy b1/e+ud [ 25
o pO 41811 0.0
p1 -35.44+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

1L Yope+Us / 25
po 4220+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (21,12

T il y45e+U6 / 25
== pO 4205+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (2,1,1

4000 [,

3000

2000

1000

AT 1 nuzByze+U6 / 25
e po 4223+ 0.0
p1 -39.18+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

4000

3000

2000

1000

-1 nu 140e+04 / 25
4196+ 0.0
-35.8+ 0.0

50 150
TP delay [ns]

TVCebeh)=(2, 1,9

4000 m

3000

2000

1000

<1 nuis.a49e+U5 / 25
pO 4249+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, l 13

4000 [,

3000

2000

1000

T inunp.y4e+ud [ 25
pO 4230+ 0.0
p1 -36.61+ 0.00

- L=
50 100
TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (2,1,2)

X~ 1w 14ze+05 /25
Fe po 4223+ 0.0
[ p1 -37.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (21,6

- g boge+ud [ 25
e pO 4201 0.0
[ pl -35.91+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2 1, 10

T inuipb7 (e+U5 [ 25
- po 4243+ 0.0
- pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (21,14

T 1nuiz438e+04 [ 25
pD 4223+ 0.0
pl -36.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3

A1 g y30e+u6 / 25
F.. po 4232+ 0.0
p1 -37.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

Uy 533e+U5 / 25
Fucee po 4198+ 0.0
p1 -35.84 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (21,

RIS zsse+u6/25
- po 4252+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1 15

T inuizag/e+u5/ 25
- pO 4207+ 0.0
p1 36+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1,

299e+U6 / 25
4176+ 0.0
-35.16+ 0.00

TP delay [ns]

TVC(cbch) (2,24

=1,
pO
pl

18be+U6 / 25
4202+ 0.0
-37.38+ 0.00

50 100

TP delay [ns]

TVC(cbch) (2,2,8

pD

p1

~1nuig.yy1e+Us / 25
4196+ 0.0
-35.37 + 0.00

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

T p.oYe+U5 /25
4241+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

vyse+us /25
4189+ 0.0
-36.33+ 0.00

PSR

=, po

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

-1 1ug.449e+05 / 25
4183+ 0.0
-36.3 % 0.0

TP delay [ns]

TVC(c,b ch) (2, 2

T nub.ob/e+U5 / 25
4233+ 0.0
-35.59 + 0.00

TP delay [ns]

TVC(C, bch) (2,213

T 1 nu,3uve+U5 / 25
4222+ 0.0
-36.34+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

A1

™, po

pl

5./e+U5/25
4193+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(cbch) (2,2,6

pO
pl

=1L 015e+U5 / 25
4201+ 0.0
-37.15+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2, 10

© 1 5 Zoe+u5 / 25
- DO 4232+ 0.0
r pl -36.13+ 0.

-36.13 + 0.00

TP delay [ns]

TVC(cbch) (2,214

- PD
[ p1

1 nuiz,580e+U6 / 25
4234+ 0.0
-37.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,2,

A1

po
pl

3

nur, 3oze+u4 | 25
4208+ 0.0
-37.69 % 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-

pO
pl

Uz 633e+U6 / 25
4208+ 0.0
-37.03+ 0.00

100

TP delay [ns]

TVC(eh.eh=(2,2,1

g, iUée+U6/25
4218+ 0.0
-35.5+ 0.0

1
100

50
TP delay [ns]
TVC(c,b ch) (2,2,15

X1

nuiz.483e+U6 / 25
4220+ 0.0
-35.81+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

A~ 1nui, 149e+05 / 25
4210 0.0
p1 -36.77+ 0.00

TP delay

TVC(cbch) (23,4

[ns]

-1y 63ze+U5 / 25
4212+ 0.0
-36.67 + 0.00

- pO
p1
- C N
1 L -'
50 100
TP delay [ns]
TVC(cbch) (2,38)
- nuizzze+U5 / 25
= po 4229+ 0.0
p1 -37.15+ 0.00

TP delay

TVC(cbch) (2,312

[ns]

- i pz/e+u4 [ 25
4231% 0.0
-34.9+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT 1 nuiLzsse+us / 25
4217+ 0.0
-36.59 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 3,5

pO
pl

=1 nui Z8be+u5 / 25
4200+ 0.0
-35.74 % 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2 3,9

Tnug.34/e+U6 / 25
4267+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 3 13

Tinuizy/e+ud [ 25
4229+ 0.0
-34.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

= PO

A~ 1, ro0e+U5 / 25
4213+ 0.0
p1 -36.29+ 0.00

TP delay

TVC(cbch) (23,6

= P°

pl

[ns]

- 1nuig,310e+U5 / 25
4221+ 0.0
-36+ 0.0

TP delay

TVC(eb,oh)=(2, 3, 10

1000

- b

[ns]

- iy zise+ud [ 25
4272+ 0.0
p1 -36.34 + 0.00

TP delay

TVC(cbch) (2,3 14

[ns]

T 1nuz 339e+U6 / 25
4224+ 0.0
-34.81+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,3,

A

e po
pL

3)

nur b,obe+u5 / 25
4208+ 0.0
-35.98+ 0.00

TVC(c,b ch) (2 3,7

-
pO
pl

1
100

TP delay [ns]

nu 388e+U6 / 25
4196+ 0.0
-35.21+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 3

SRR tu::e+u5/25
4261+ 0.0
-36+ 0.0

1
100

50
TP delay [ns]
TVC(c,b ch) (2, 3 15)
-1 nup 482e+U5 / 25
== pO 4232+ 0.0
-36.07 + 0.00

TP delay [ns]



TVC(ehe)=(2,4,0) TVC(ehe)=(2,4,1) TVC(ehe)=(2,4,2) TVC(ehe)=(2,4,3)
TonuLule+Us /25 A7 1 nup,323e+U5 / 25 X~ 1, 112e+U5 [ 25 AT 1 nuiz, 118e+U5 / 25

4000 [, po 4206+ 0.0 4000 fm po 4190+ 0.0 4000 fee,, po 4198+ 0.0 4000 [, po 4222+ 0.0
Pl -35.06+ 0.00 Pl -34.62+0.00 [ Pl -3543%0.00 Pl -36.45: 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 B 1000 n 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (24,7

T 331e+04 / 25 =11y 3vpe+u5 / 25 T rnun 4.2e+05/ 25 ~ U Bbze+u6 / 25
4000 e pO 4211% 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4232+ 0.0 4000 e, pO 4223+ 0.0
Pl -3594%0.00 Pl -35.99+ 0.00 3 pl -36.92+ 0.00 Pl -36.43% 0.00
3000 B 3000 — 3000~ — 3000 B
2000 E 2000 E 2000~ — 2000 B
1000 - 1000 - 1000 r C=27.09 [pS/Ch ] 1000 C -
[ T -
[ -
L I " I =
0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 8) TVC(c,b Ch) (2, 4 9) TVC(c,b, Ch) (2, 4 10) TVC(c,b Ch) (2, 4 11)
T, 324e+06 / 25 ~ g gsze+us / 25 ~rnuay, (9ye+ud | 25 < 1uy, 539e+U6 / 25
4000 pO 4251+ 0.0 4000 [, pO 4263+ 00 4000 [, DO 4277+ 00 4000 fom p0 4289+ 0.0
Pl -38.44%0.00 pL_ -37.48% 0.00 [ PL_ -37.34% 0.00 Pl -37.65% 0.00

3000~

. 3000 -1 3000 -1 3000 -1

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000 - 1000 - 1000

. - [
-
% 50 00 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(2412) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
1 g, syoe+U5 / 25 1 nuiz.ugoe+ud | 25 1 nuy.pose+u4 / 25 T inuiz.4/4e+U6 / 25
4000 [m, pO 4243+ 0.0 4000 pO 4231+ 0.0 4000 PD 4236+ 0.0 4000 s pO 4234+ 0.0
-34.72+ 0.00 pl -35.16 + 0.00 I pl -35.24 + 0.00 pl -35.15 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 -1 2000 - 2000

- 1000 [~ -1 1000 -1 1000

1000~ C = 28.81 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,50

A~ 1z byze+U5 [ 25
= po 4218+ 0.0
p1 -35.93 + 0.00

TP delay [ns]

TVC(cbch) (2,54

- UL 8g /e+U5 / 25
== po 4189+ 0.0
pl -36.48 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 5,8

1 nuig.yage+Us / 25
4218+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (2,5,12

1 nuizyo4e+U6 / 25
— po 4240+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT 1 nuiL334e+U6 / 25
e po 4208+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nuz 109e+U6 / 25
- pO 4205+ 0.0
pL -37.08 0.00

TP delay [ns]

TVC(c,b ch) (2 59

TinuiL14/e+U5/ 25
- pO 4240+ 0.0
p1 -34.62+ 0.00

[ C =28.89 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

~ 1 nuy . g8Ye+Us / 25
Feme. 4240 0.0
-34.13+ 0.00

[ C =29.30 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

A~ 1 nuig 340e+04 | 25
F-. po 4223+ 0.0
[ pl -36.68+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

©1nu,gyze+u4 | 25
- pO 4204+ 0.0
- pl -36.09 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

~ 1 nuy,104e+05 / 25
- po 4256+ 0.0
L pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (2,514

S rnui 2z re+04 [ 25
- pD 4248+ 0.0
N pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ 1L B1oe+Us / 25
- po 4222+ 0.0
p1 -36.83 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

-1 nugbrge+u6 / 25
- pO 4218+ 0.0
p1 -36.26+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T, b‘J‘Je+U5/25
- pO 4255+ 0.0
p1 -34.57 + 0.00

[ C =28.93 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 5 15

T inuiz.ry1e+U6 / 25
— po 4230+ 0.0
p1 -34.78 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

A~ 1 nugOyie+ud [ 25
o po 4200+ 0.0
p1 -35.38+ 0.00

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

- iU 316e+U6 / 25
Facse po 4267+ 0.0
pl -36.18 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 6,8

4000

3000

2000

1000

~ 1 nuip,55e+U5 / 25
- pO 4246+ 0.0
-34.81+ 0.00

I C =28.73 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(Cbch) (2, 6 12

4000

3000

2000

1000

1 u,uove+U6 / 25
4224+ 0.0
-32.97 + 0.00

[ C =30.33 [ps/ch] ™ 1]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nuz.3r0e+Us / 25
k.. po 4208+ 0.0
p1 -35.63 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 U, 789e+US / 25
I e, po 4262+ 0.0
pl -34.94 % 0.00

[ C =28.62 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (2 6,9

T inun 1 oge+us / 25
- pO 4266+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

1 nug gyae+U5 / 25
E pO 4230+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A1, 351e+05 / 25
_l'_ po 4218+ 0.0
[ Pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.21 [ps/ch

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 6, 10

1000

~ iy pure+us / 25
- po 4295+ 0.0
[ p1 -36.54  0.00

- 1 18 /e+05 / 25
=3 po 4259+ 0.0
[ p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,614

~ 1y .452e+05 / 25
- pD 4237+ 0.0
L pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3)

. PO

AT, rzre+U5 /25
4224+ 0.0
-35.72+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (2 6,7

- nue, (yze+u4 [ 25
4262+ 0.0
-34.9+ 0.0

[ C =28.66 [ps/ch]

50

100

TP delay [ns]

TVC(c,b ch) (2, 6

- pO

pl

T, /a/e+u6/25
4296+ 0.0
-35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 6 15

71 nui/ bbye+u6 / 25
4237+ 0.0
-34.9+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

SRR

Svwve+us / 25
4201+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (27,4

Trnaz.zze+04 1 25
4189+ 0.0
-34.95+ 0.00

= pO
pL
e 4
% i
TP delay [ns]
TVC(cbch) (2 7,8
o pO

1L 3z4e+06 / 25
4216+ 0.0
-35.44 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,7,12

T i zz4e+06 / 25
4226+ 0.0
-36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

11/e+U5/25
4207+ 0.0
-36.73+ 0.00

Ay,

e, po
pL

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nun Zzze+U5 / 25
4192+ 0.0
-34.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

= po

pl

T nu oE3e+U5 / 25
4222+ 0.0
-34.82+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,13

= pO

T nursn43e+ud [ 25
4214+ 0.0
-35.67 + 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

b34e+U6 / 25
4226+ 0.0
-37.78+ 0.00

A1 g

- po
p1

TP delay [ns]

TVC(cbch) (2,7,6

pO
p1

- rnuiL314e+04 / 25
4219+ 0.0
-35.49 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

=1 nug,

= 90
L pl

120e+U5 /25
4228+ 0.0
-35.48 + 0.00

TP delay [ns]

TVC(cbch) (2,7, 14

K- rnan g,

= PO
pl

r2e+u4 125
4221+ 0.0
-36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,7,

A

po
pL

3

nuiL BUBe+U6 / 25
4226+ 0.0
-36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-
pO
pl

nuri 1bbe+u4 / 25
4214+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 7

ERALEICK bU‘Je+U6/25
4238+ 0.0
-35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

X1

15

nuiL.441e+U6 / 25
4232+ 0.0
-36.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,80

K™ 1nuig.zrae+05 [ 25
o po 4216+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(cbch) (28,4

-1 241e+06 / 25
po 4233+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch] 7]

50 10'0
TP delay [ns]

TVC(cbch) (2 8,8

T nuiL 31 /e+U6 / 25
po 4236+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(Cbch) (2, 8 12

T g5 e+U5 / 25
= po 4265+ 0.0
pl -36.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nuiLZ1ye+u6 / 25
F.. po 4236+ 0.0
p1 -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nun 4y1e+u4 [ 25
4228+ 0.0
-33.97 + 0.00

[ C =29.44 [ps/ch] 7

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

T naia11e+u6 / 25
= pO 4244+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

~ 1 nug ysae+us / 25
= pO 4251+ 0.0
pl -36.37+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

A~ 11w, 155e+U6 / 25
po 4241+ 0.0
p1 -35.39+ 0.00

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 29.05 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

© 1 nuz, soge+Us / 25
- po 4256+ 0.0
- pl -35.01+ 0.00

= nurLbb1e+U6 / 25
- pO 4244+ 0.0
r p1 -34.42+ 0.00

TP delay [ns]

TVC(cbch) (2,8 14

Tz, 1z29e+06 / 25
= pD 4263+ 0.0
L pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

A1 nuy bube+Us / 25
- po 4224+ 0.0
p1 -33.92+ 0.00

[ C =29.48 [ps/ch] ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

< U Z0re+u6 /25
[=s, po 4255+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

SRR 5a4e+u5/25
- pO 4277+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

71 nurs.450e+U5 / 25
e pO 4272+ 0.0
p1 -37.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

i 4sye+u6 / 25
™, PO 4154 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (2,94

-1, bBBe+U5 / 25
4203+ 0.0
-37.5+ 0.0

50 100
TP delay [ns]

TVC(cbch) (2 9,8

© 1, bzze+U5 / 25
- PD 4209+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

Tinugblie+us/ 25
= PO 4206+ 0.0
pl -36.65 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,1)

AT 1 nuy.n43e+U6 1 25
PO 4182+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

=1 nun, uze+u6 / 25
DU 4216+ 0.0
pL -38.13+ 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (2 9,9

~ 1 nug.zyve+u5 / 25
DO 4222+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

~ 1, zobe+us / 25
pO 4197+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,9,2)

X~ 1 rore+U4 /25
- po 4179+ 0.0
I pl -35.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

©1nuz, r54e+06 / 25
- PO 4200+ 0.0
r pl -36.19 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

1000

1 nu, 828e+U5 / 25
- DO 4239+ 0.0
I pl -35.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

© g, 132e+05 / 25
4212+ 0.0
-37.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

AT 1 hug, S50e+U6 / 25
™ PO 4159+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

-1 1ub.435e+U6 / 25
= PO 4238+ 0.0
pL -38.11 + 0.00

-
50 100
TP delay [ns]

TVC(c,b ch) (2, 9

ERRLEA uz::e+u6/25
- pO 4232+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

i 2.2ze+05/ 25
- PO 4202 + 0.0
pl -36.33 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

1z, go0e+U6 / 25
peee,. pO 4172+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 4

=1 1uiLu43e+U6 / 25
4200+ 0.0
-35.2+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

1 nuz,349e+06 / 25
=3 PD 4226+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

T 141e+06 / 25
= po 4237+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

A1 nugbuLe+UB / 25
pese,, po 4164+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

=1 nui 199e+U6 / 25
e pO 4196+ 0.0
p1 -34.52:+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

T nuiz 134e+U5 / 25
- pO 4245+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

TinuiL1yle+u6 / 25
- pO 4238+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (2,10,2)

TP delay [ns]

TVC(Cbch) (2, 10 6

A1y, szre+05 /25
-, po 4196+ 0.0
L p1 -36.85 + 0.00

3000

T,/ rve+u4 | 25
- pO 4231+ 0.0
L pl -36.04 + 0.00

TP delay [ns]

TVC(e,beh)=(2, 10, 10

~ 1 nuy pobe+Us / 25
- po 4274+ 0.0
- pl -36.63 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

T 1nuizuo1e+U6 / 25
4240+ 0.0
-35.7+ 0.0

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10, 3)

A1 L Ase+u6 /25
e, po 4212+ 0.0
pL -36.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

-1 nug bzye+us / 25
- pO 4226+ 0.0
p1 -35.89+ 0.00

50 160
TP delay [ns]

TVC(eh.eh)=(2,10, 11

T nuiz.yrge+us / 25
- pO 4283+ 0.0
-37.51+ 0.00

50 00

TP delay [ns]

TVC(cbch) (2, 10 15

<1 nup.yuse+u6 / 25
=3 4225+ 0.0
-34.59 + 0.00

[ C=28.91 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 11 0)

T rnuy.pLze+ud [ 25
4177+ 0.0
-35.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,11,4

T, 4/e+05 / 25
- pO 4186+ 0.0
pl -34.82+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

1 nuiLyube+U6 / 25
= po 4218+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (211,12

g, 194e+04 / 25
= po 4235+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,1)

A1 nuig.408e+U4 [ 25
pee,, po 4193+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (2,11,5

-1 U bube+u4 / 25
e pO 4196+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

T nuig 113e+06 / 25
= po 4238+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (211,13

T nui sbve+u5 / 25
- pO 4232+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(CbCh) (2,11, 2)

1000

X~ 1 g usoe+Us / 25
) po 4203+ 0.0
L pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (2,11,6

=1 i BY3e+U5 / 25
4206+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X1 nuig s80e+U5 / 25
po 4243+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

1000

K71 nuiz ss1e+U5/ 25
-, po 4245+ 0.0
- pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT 1L szoe+U6 /25
= po 4205+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (2,11,7

-1 Uy yole+us / 25
- pO 4212+ 0.0
pL -35.83+ 0.00

50 1(;0
TP delay [ns]

TVC(Ebeh=(2, 11, 11)

T po1e+u4 /25
F=. p0 4230+ 0.0
pL -35.19.+ 0.00

TP delay [ns]

TVC(cbch) (211,15)

T nu313e+U6 / 25
- po 4229+ 0.0
-35.81+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000
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- pO 4198+ 0.0
p1 -36.65 £ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

- nui rgze+u4 [ 25
pO 4224+ 0.0
p1 -35.45+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nu, r84e+04 | 25
- po 4222+ 0.0
p1 -34.84 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,313

-1 nuiL pbye+ud / 25
pO 4235+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,3,2)

T rze+ud /25
L™ pO 4215+ 0.0
o pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

-1 i Boze+u4 | 25
- pO 4233 0.0
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T a5 roe+u4 [ 25
= po 4251+ 0.0
I pl -35.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

T 13e+u4 /25
4217+ 0.0
-36.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT rnuiLosse+ud [ 25
- po 4214+ 0.0
p1 -34.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

- rnug 131e+04 / 25
pO 4250+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (3, 3

AL 5b5e+u4/25
. po 4252+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(C, bch) (3,315

T nuiL g rye+ud [ 25
pO 4239+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



TVC(cbch) (3,4,0

4000 [Fu

3000

2000

1000

A7 1nui r40e+04 /25
' po 4195+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (34,4

-1 bz4e+04 [ 25
pO 4229+ 0.0
pl -36.18:+ 0.00

4000 [
3000~ 7
2000 = 7
1000~ C 7
0 5(') 10'0
TP delay [ns]
TVC(cbch) (3.4,8)
© 1 nug.asze+04 / 25
4000 [ pD 4212+ 0.0
p1 -34.45 + 0.00

3000

2000

1000

0

0

TP delay [ns]

TVC(cbch) (3,4,12

4000 [

3000

2000

1000

T L, 44e+04 / 25
pO 4237+ 0.0
p1 -36.6+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 71rerud ) 25
- po 4192+ 0.0
p1 -36.37 £ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

- 1nui by /e+u4d / 25
- pO 4234+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

T nup.by1e+ud [ 25
4231% 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,4,13

T inuis4/e+u4 /25
- pO 4224+ 0.0
p1 -37.4% 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,4,2)

A7 1 nuioyze+u4 /25
[ = po 4188+ 0.0
[ p1 -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

-1 Bsze+u4 [ 25
- pO 4242+ 0.0
[ pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

© 1 nuig.4zve+u4 [ 25
[ po 4241 0.0
- pl -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

T r47e+04 /25
4224+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1L Bsve+ud [ 25
- po 4207+ 0.0
pl -36.98+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

-1 nui Yole+ud / 25
- pO 4250+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

Sz, /4e+u4/25
- pO 4246+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

T nui byse+ud [ 25
- pO 4227+ 0.0
p1 -36.23+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

0

TVC(cbch) (3,5,0)

T Love+ud /25
p— pO 4203+ 0.0
pl -35.39 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,54

- rnuLy3le+ud / 25
4215+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]
TVC(cbch) (3 5,8

Trnun 1e+u4 /25
po 4241+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (3,5,12

Trnwaigzzie+04 /25
pO 4295+ 0.0
pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

AT 1L bsse+ud [ 25
po 4229+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nu.Doze+u4 / 25
pO 4205+ 0.0
p1 -34.83+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

=,

T nuizz3e+u5 / 25
po 4270+ 0.0
p1 -35.48 £ 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

[,

-1 nuiz.yuae+ud / 25
pO 4283+ 0.0
pl -36.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000

2000

TVC(cbch) (3,5,2)

T Lore+ud /25
___ pO 4234+ 0.0
- pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

- a1 ge+u4 [ 25
= po 4209+ 0.0
[ pl -34.52+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

©1nug.guze+ud | 25
po 4285+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (3,5,14

1000

[

pD
pl

~1nuiLy4ve+u4 | 25
4284+ 0.0
-36.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLrzie+u4 /25
[ po 4241+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

“nuz.Zu/e+u4 / 25
4221+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3, 5

T, /bde+U4/25
pO 4290+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,15

T nuiy4e+ud [ 25
pO 4296+ 0.0
p1 -37.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A~ 1 nui Szoe+ud [ 25
- po 4177+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(cbch) (36,4

- i bz9e+u4 [ 25
- pO 42411 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(cbch) (3 6,8

©nuig,bgve+u4 | 25
- pO 4231+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

- 1L (Soe+u4 / 25
- po 4223+ 0.0
p1 -35.27+ 0.00

PR ISR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,1

A1 i daae+ud | 25
- po 4188+ 0.0
pL -34.76+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

= nur 1bze+04 /25
[ po 4257+ 0.0
pl -37.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nup.414e+04 / 25
- pO 4257+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T nuibzae+ud [ 25
pO 4235 0.0
p1 -36.07 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,6,2)

1000

A~ 1 nuiL433e+04 / 25
[=. po 4204+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

© 1 nuiL bsge+u4 | 25
- pO 4260+ 0.0
- pl -37.04 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

- nuis e+U4 [ 25
po 4251+ 0.0
pL -35.47 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

- 1 nui plse+ud [ 25
pD 4247+ 0.0
pl -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A1 nuiL4ae+U4 [ 25
- po 4193+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

= nun 1bae+04 /25
[ po 4263+ 0.0
p1 -38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

T, 4bbe+U4/25
. po 4266+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

- prge+ud [ 25
pO 4240+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

T Loae+ud /25
4197+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,7,

- 1 nuiL boge+ud / 25
4205+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

©rnuzbule+u4 [ 25
- pO 4214+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

T gre+u4 [ 25
pO 4227+ 0.0
pl -34.84+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

AT rnuiL r11e+u4 /25
[ po 4202+ 0.0
p1 -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

- nui b1be+u4d [ 25
- pO 4195+ 0.0
p1 -34.91% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nang.29e+u4 [ 25
po 4241+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T nuiLoove+ud /25
- pO 4210+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

A7 nun s4se+04 / 25
_'h po 4217+ 0.0
o pl -36.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- L 83ze+04 | 25
L= pO 4213+ 0.0
I pl -36+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T nugusle+u4 / 25
[ po 4256+ 0.0
o pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

T 1L p34e+u4 [ 25
pD 4211+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

AT 1nun L /be+ud [ 25
- po 4217+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

=11 bbae+u4 / 25
-, pO 4227+ 0.0
pL -35.78+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 7

ERALEVX biée+l}4/25
4254+ 0.0
-37.1+ 0.0

1 -]
50 100
TP delay [ns]

TVC(C, bch) (3,7,15

T nui pbae+ud [ 25
- pO 4217+ 0.0
p1 -35.55+ 0.00

TP delay [ns]



TVC(cbch) (3,8,0)

4000 [~

3000

2000

1000

A~ 1L slie+ud [ 25
PO 4220+ 0.0
pl -37.48 + 0.00

TP delay [ns]

TVC(cbch) (38,4

T e3/e+ud [ 25
pO 42231 0.0
pl -35.47 + 0.00

4000 |,
3000 [ B
2000~ e
1000 C E
0 EY 00
TP delay [ns]
TVC(cbch) (3,88)
T z3re+u4 | 25
4000 pO 4250+ 0.0
pl -38.37+ 0.00
3000~ B
2000~ B
1000~ E
% EY oo
TP delay [ns]
TVC(c,b ch) (3.8,12)
Tanuzuse+ud /25
4000 pO 42394 0.0
pl -36.3+ 0.0

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,1)

AT 1 nuiLbrze+u4 | 25
PO 4199 0.0
p1 -35.63 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

Snun 1 //e+04 [ 25
4211+ 0.0
-35.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

[

Ty b1ze+u4 [ 25
DO 4266+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

TinuiLyz/e+ud [ 25
4235+ 0.0
-36.21+ 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,82)

A7 g rze+04 /25
L= po 4201+ 0.0
r pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

1000

T b8 /e+u4 [ 25
L= pO 4218+ 0.0
3 pl -35.35:+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

© 1 nug,uyle+ud / 25
L= DO 4272+ 0.0
I pl -38.08 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

- pD
pl

~ 1 nuiLgyve+u4 / 25
4233+ 0.0
-36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

i L'vae+ud | 25
= PO 4231 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

Sornan 1.8e+u4 /25
[ PO 4240+ 0.0
Pl -36.25: 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

EREALER mbe+u4/25
[ p0 4276+ 0.0
pL -38.19+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

T sybe+u4 / 25
[ pO 4243 0.0
pl -35.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,9,0

A7 1 nui bbae+u4 / 25
™, po 4215+ 0.0
p1 356+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (39,4

T zzoe+u4 | 25
P pO 4209+ 0.0
pl -35.05+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 9,8

T nuig, 1eve+u4 / 25
- po 4217+ 0.0
pl -35+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,9,12

T/ roe+u4 / 25
pO 4271+ 0.0
pl -36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

AT 1 nuiLozoe+ud [ 25
[ po 4232+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

~1nubloe+ud / 25
e pO 4217+ 0.0
pL -36.11 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

T nu.3oe+ud [ 25
- po 4229+ 0.0
pl -35.57 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,9,13

T inui oy /e+ud [ 25
- pO 4249+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,9,2)

“inun Lobe+ud [ 25
™ po 4232+ 0.0
o pl -35.87+ 0.00

3000

TP delay [ns]

TVC(cbch) (39,6

-1 nug zoge+u4 [ 25
- pO 4232+ 0.0
[ pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 9 10

© 1 nuig, 1ove+u4 / 25
[, po 4250+ 0.0
L pl -34.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

~nuiLy4se+u4 / 25
- pD 4255+ 0.0
L pl -37.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT 1L ruoe+ud [ 25
™, po 4230+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

S nubr4e+04 [ 25
- pO 4242+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

T, //‘Je+U4/25
- po 4257+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T nui s4ye+ud [ 25
- po 4248+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

- 90

pl

T L osse+u4 [ 25
4220+ 0.0
-37+ 0.0

TP delay

TVC(Cbch) (3, 10 4

[ns]

T L b r4e+04 [ 25
4206+ 0.0
-36.85+ 0.00

- pO
p1
FC N
1 1 --
50 100
TP delay [ns]
TVC(ebch)=(3, 10,8)
T rnugg1e+u4 / 25
- pO 4251+ 0.0
-37+ 0.0

p1

TP delay

TVC(Cbch) (3, 10 12

pO

[ns]

T 1 sae+ud /25
4235+ 0.0
pl -35.01+ 0.00

TP delay

L n n n n 1 n
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

[, po

A7 1 nuiL5o0e+U4 [ 25
4222+ 0.0
p1 -37.97 + 0.00

TP delay

TVC(c,b Ch) (3, 10 5

[ns]

S nun rzze+04 [ 25
4213+ 0.0
pl -36.83 + 0.00

TP delay

TVC(eb.oh)=(3, 10,9

-~ po

[ns]

T nuw.z45e+04 [ 25
4264+ 0.0
pl -36.66 + 0.00

TP delay

TVC(c,b ch) (3, 10 13

[ns]

T inai rsae+ud [ 25
4234+ 0.0
p1 -34.36 + 0.00

TP delay

[ns]

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (3,10,2)

1000

- po

X~ 1L rz1e+04 [ 25
4219+ 0.0
p1 -37.45+ 0.00

TP delay

TVC(Cbch) (3, 10 6

pD

[ns]

© 1 nuiLyuse+u4 / 25
4225+ 0.0
pl -36.68 + 0.00

TP delay

TVC(cbch) (3, 10 10

1000

0

- o

[ns]

-1 i zade+04 | 25
4277+ 0.0
pl -37.15+ 0.00

TP delay

TVC(CbCh) (3, 10 14

1000

= pD

[ns]

- i s Ye+ud [ 25
4237+ 0.0
pl -35.22:+ 0.00
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T rnuiLz1/e+04 /25 ~1nui4n/e+u4 [ 25 - i 3z8e+04 [ 25 -1 nui 3ble+u4d / 25
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pl -34.64 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

“anui /1/e+04 /25
- pO 4235+ 0.0
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TP delay [ns]

TVC(c,b ch) (5 4,5

= rnui 7z3e+0d | 25
== po 4217+ 0.0
pl -37.97 + 0.00

(LA
50 100
TP delay [ns]

TVC(c,b ch) (5 4,9

-1 naiy . guse+ud 25
- po 4253+ 0.0
pl -36.43 + 0.00

TP delay [ns]

TVC(C, bch) (54,13

T nai rbye+ud / 25
= pO 4230+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (5,4,2)

™, po

pl

AT 1nun rsze+04 /25
4201+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(cbch) (54,6

T LB 5e+u4 [ 25
- pO 4218+ 0.0
[ pl -37.87 + 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

T nuig138e+U4 / 25
-, po 4259+ 0.0
- pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (54,14

~ 1L pyze+u4 | 25
4222+ 0.0
-34.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

A,

o po
pL

1o4e+u4 | 25
4206+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

= 1 nuz 1use+ud | 25
= po 4214+ 0.0
pl -36.91+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 4

T, 4sze+u4/25
4266+ 0.0
-37.6 £ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (54,15

T nui ooye+ud / 25
= pO 4221+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



TVC(cbch) (5,5,0

4000

3000

2000

1000

A~ 1 nui 31oe+u4 /25
' po 4186+ 0.0
p1 -36.49 £ 0.00

TP delay [ns]

TVC(cbch) (55,4

4000

3000

2000

1000

- 1 nuiL304e+04 / 25
pO 4188+ 0.0
p1 -36.88:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5 5,8

4000

3000

2000

1000

0

-1 ug p31e+ud [ 25
4241+ 0.0
-37.51+ 0.00

0

TP delay [ns]

TVC(Cbch) (5, 5 12

4000

3000

2000

1000

“inu L ple+ud [ 25
pO 4231+ 0.0
pl -35.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,1

X153 e+Ud | 25
- po 4193+ 0.0
pL -38.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

- /it 44ae+04 [ 25
- pO 4192+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

-1 Suse+Ud [ 25
e, po 4266+ 0.0
pL -37.52.+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 5 13

TinuiLnrse+ud [ 25
= pO 4230+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

A~ 1 nuiL4use+ud / 25
= po 4205 0.0
L pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

= 1 i boge+ud [ 25
- pO 4204+ 0.0
[ p1 -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

-1 nuizn/ae+U4 [ 25
- po 4272+ 0.0
[ pL -37.19.+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

1 nuig pove+u4 / 25
. pD 4242+ 0.0
[ pl -36.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

K™ vl 4roe+u4 [ 25
prme, po 4211+ 0.0
p1 -36.1% 0.0

TP delay [ns]

TVC(c,b ch) (5 57

S rnuiL Y/ e+u4 /25
e, pO 4208+ 0.0
p1 -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

T, //5e+u4/25
- po 4268+ 0.0
p1 -37.16 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 5 15

<1 nui pyae+ud [ 25
e pO 4231+ 0.0
p1 -35.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,6,0

AT 1nun rsae+04 /25
' po 4184+ 0.0
pl -37.72+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (56,4

-1z bp4e+04 / 25
- pO 4198+ 0.0
pl -37.22:+ 0.00

[ C =26.87 [ps/c ]
% oo
TP delay [ns]
TVC(c,b ch) (5 6,8

T rnuzb34e+04 [ 25
po 4218+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (5,6,12

~ 1L pose+ud / 25
pO 4235+ 0.0
pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6, 1

A7 1 nuiLbyoe+ud [ 25
F . po 4200+ 0.0
p1 -38.42+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,5

“rnuby/e+u4 /25
P po 4190+ 0.0
pL -37.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

-1 nuy.bope+ud 25
= po 4226+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (5.6,13

T nui sse+ud / 25
4224+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000

2000

TVC(cbch) (56,2)

T r1e+ud /25
F pO 4213+ 0.0
o pl -38.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (56,6

-1 bloe+ud [ 25
- pO 4197+ 0.0
3 pl -37.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 6 10

1000

0

T rnuzg41e+04 /25
= po 4244+ 0.0
L pl -36.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,6,14

1000

~1nuiLp4se+u4 | 25
4213+ 0.0
-35.9+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3

AT rnuiLoble+ud [ 25
P po 4216+ 0.0
p1 -37.9+ 0.0

C =26.39 [ps/c 7

L L=
50 100

TP delay [ns]

TVC(c,b ch) (5 6,7

C o 1rye+u4 | 25
- pO 4207+ 0.0
p1 -36.47 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

T, 1me+u4/25
- pO 4247+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (5.6, 15

T nuipyle+ud / 25
po 4232+ 0.0
p1 -36.02+ 0.00

TP delay [ns]



TVC(ebe)=(5,7,0) TVC(ebe)=(5,7, 1) TVC(ehe)=(5,7,2) TVC(ebe)=(5,7,3)
X~ 1 suze+U4 [ 25 AT 1L, r2zoe+u4 [ 25 X~ 1 ruve+U4 [ 25 A7 1 nuiLoB4e+U4 [ 25
4000 [, po 4202+ 0.0 4000 fRee,, pO 4215+ 0.0 4000 e, po 4207 0.0 4000 [, po 4226+ 0.0
Pl -36.39+ 0.00 pl  -36.35: 0.00 b pl 364200 Pl -36.48+ 0.00

3000

- 3000 =1 3000 =1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(574) TVC(cbch)(575) TVC(cbch)(576) TVC(cbch)(57 )
111u1L.445e+04 25 S 1252125 T bz/e+V4 [ 25 1 nuiL bube+u4 | 25
4000, pO 4213+ 0.0 4000 e, pO 4216 0.0 4000 (e, pO 4221+ 0.0 4000 e, pO 4232+ 0.0
pl -37.1% 0.0 pL -36.33 + 0.00 [ pl -36.41+ 0.00 pL -35.33+ 0.00
3000 - — 3000 - 3000 :— —: 3000 4
2000 4 2000 - 2000 — — 2000F 4
w0l C = 26.95 [ps/c . 1000 ] wof C = 27.47 [ps/ch . weof C = 28.30 [ps/ch .
0 EY 00 = 0 of EY 0 = 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.7,8) TVC(c,b ch) (5.7,9) TVC(c,b, ch) (5.7,10) TVC(c,b ch) (57,11)
T nu zyge+ud /25 T rnun.b/be+u4 [ 25 © 1 nuz.449e+04 / 25 - nug 13ze+04 / 25
4000 e pO 4227+ 0.0 4000 pO 4258+ 0.0 4000 pO 4256+ 0.0 4000 4258+ 0.0
pl -36.49+ 0.00 pL -36.49 + 0.00 [ pl -36.05+ 0.00 -36.8+ 0.0

3000 g 3000 E 3000 - 3000 E

2000 -1 2000 -1 2000 - 2000

1000 E 1000 E 1000 - 1000

0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(57l ) TVC(cbch)(5713) TVC(cbch)(57l ) TVC(cbch)(5715)
~ 1L suYe+u4 / 25 T 43/e+u4 /25 TnuiL5ye+ud [ 25 -1 bybe+u4 / 25
4000 [m, pO 4251+ 0.0 4000 e, pO 4256+ 0.0 4000 j PD 4255+ 0.0 4000 fe pO 4256+ 0.0
pl -35.77 + 0.00 pl -36.32+ 0.00 F pl -35.49+ 0.00 pl -35.33+ 0.00

3000 -1 3000 N 3000 N 3000 T

2000 1 2000 2000 1 2000

1000 — 1000 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

AT 1nun 3sae+04 /25
e, po 4214+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(cbch) (58,4

-1 414e+04 25
e pO 4195+ 0.0
p1 -34.87+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T, fure+u4 [ 25
- pO 4224+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (5,812

T L pyle+u4 / 25
- po 4265+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

A1 Zave+Ud | 25
.. po 4198+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

=1 nui by3e+ud [ 25
o pO 4198+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nuby/e+ud [ 25
= po 4253+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(C, bch) (5,813

T inui sbse+ud / 25
- pO 4270+ 0.0
pl -36.49+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

K™ 1nui419e+04 /25
=, po 4201+ 0.0
L pl -35.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

T LB 3e+u4 [ 25
e pO 4222+ 0.0
[ pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

T 1nuggo3e+u4 [ 25
-, po 4265+ 0.0
- pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5,814

~ 1 nuiLzype+u4 / 25
- pD 4250+ 0.0
| pl -34.62 + 0.00

- C = 28.88 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

AT 1 nuaiL4nse+ud [ 25
po 4230+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- nui gr1e+u4 / 25
pO 4217+ 0.0
p1 -35.24+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

ERALEVX m::e+u4/25
po 4277+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

1 nui ooae+ud [ 25
po 4240+ 0.0
p1 -35.02+ 0.00

TP delay [ns]



TVC(ehet)=(5,9,0) TVC(Ehe)=(5,9,1) TVC(ehe)=(5,9,2) TVC(ebe)=(5,9,3)
Tonun L ove+ud [ 25 A~ 1 nuiLbube+u4 / 25 X~ 1L pole+U4 /25 AT 1 nuiLbsse+u4 / 25
4000 fe,, po 4231 0.0 4000 fmm,, po 4230+ 0.0 4000 fm, po 4234+ 0.0 4000 e, po 4254+ 0.0
Pl -36.66+ 0.00 Pl -36.77+0.00 L Pl -36.97 0.00 pl__ -37.25% 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 1 0, L 1 1 -F 0,
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5,9,4) TVC(cbch) (5,9,5) TVC(cbch) (5,9,6) TVC(cbch) (5.9,7)
- 1 nuiL494e+04 / 25 -1 nui b3ye+ud / 25 - rnuyz1e+u4 / 25 -1 nuz.0ule+ud / 25
4000 e pO 4216 00 4000 pO 4225+ 0.0 4000 fe, pO 4245+ 0.0 4000 e, pO 4252+ 0.0
Pl -36.59+ 0.00 Pl -36.06+ 0.00 3 pl -37.44+ 0.00 pL -37.31% 0.00
3000 [ B 3000 — 3000 — — 3000 B
2000~ B 2000 E 2000 — — 2000 [ e
1000 C - 1000 - 1000:— C=26.71 [pS/C — 1000 C -
0 EY o 0 EY 0 . 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.9,8) TVC(c,b ch) (5,9,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)
© 1 nuiLyyze+u4 / 25 T b.3/e+04 /25 T, (3ze+04 1 25 ~1ui.448e+04 [ 25
4000 pO 4220+ 0.0 4000 pO 4240+ 0.0 4000 o DO 4241+ 0.0 4000 o, 4249+ 0.0
Pl 3503+ 0.00 Pl -34.54% 0.00 L Pl 3367 0.00 -34.56+ 0.00
3000 B 3000 - 3000 ] 3000 E
2000 1 2000 — 2000 ] 2000 1
] 1o C = 28.95 [ps/ch]™,, 1] ol € = 29.70 [ps/ch] ™. 1 wor C = 28.94 [ps/ch]\, 1
1 1 - [ 1 1 -] 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)
T i ssye+u4 / 25 T 1 obe+u4 / 25 T nuiLob/e+u4 [ 25 T roye+u4 [ 25
4000 pO 4246+ 0.0 4000 pO 4247% 0.0 4000 . 4231 0.0 4000 o, pO 4250+ 0.0
pl -35.99+ 0.00 pl -36.25+ 0.00 r -34.23+ 0.00 pl -35.55+ 0.00
3000 B 3000 — 3000} ] 3000 E
2000 E 2000 - 2000k ] 2000 -

1000 1 1000 1000

wol C = 29.22 [ps/ch]™, 7

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rnuiLsule+u4 /25
pO 4161+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (5.10,4

- L 3r8e+u4 / 25
pO 4213+ 0.0
pl -35.31: 0.00

TP delay [ns]

TVC(cbch) (5, 10 8

1 nu.uyoe+u4 / 25
po 4221+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

T rnuiLgr4e+04 /25
pO 4250+ 0.0
pl -36.58 + 0.00

1
100

TP delay [ns]

TVC(chh) (5,10,1)

4000 [

3000

2000

1000

A1 LaZierUd ] 25
po 4187 + 0.0
pL -35.19+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,105

4000 S

3000 -

2000

1000 [~ C

-1 nui4lpe+04 / 25
pO 4207+ 0.0
pL -35.11# 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (5, 10

4000 [

3000

2000

1000

<1 nuw, r9ae+u4 / 25
po 4242+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(cbch) (510,13

4000 &,

3000

2000

1000

T inuioole+ud [ 25
pO 4259+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,10,2)

A7 1 nui sq40e+04 / 25
— po 4181+ 0.0
L pl -34.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.10,6

1000

- i b3ve+ud / 25
- pO 4229+ 0.0
[ pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

© 1, r1pe+u4 | 25
. po 4268+ 0.0
[ p1 -37.34+ 0.00

TP delay [ns]

TVC(cbch) (5,10, 14)

X~ 1L s1ierud /25
__ po 4252+ 0.0
L pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT 1L sooe+ud [ 25
- po 4187+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c, bch) (5,10, 7

-1 nui bbye+u4 / 25
- pO 4235 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 1

~ 1 nuiz syye+ud 25
= po 4260+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

-1 naiquze+ud [ 25
= pO 4232+ 0.0
p1 -35.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.66 [ps/ch]

K™ 1nui zyze+u4 /25
.. po 4167+ 0.0
-33.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,4

-1 i 384e+04 / 25
- pO 4228+ 0.0
pl -35.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T rnug.Uere+u4 [ 25
= po 4226+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 1 buse+u4 /25
= po 4240+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 [ po

p1

AT 1 nuiLSr4e+U4 [ 25
4180+ 0.0
-33.58 + 0.00

3000

2000

w00 C = 29.78 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

4000 fm, pO

[ns]

=1 nuiL499e+04 / 25
4220+ 0.0
pl -36.05+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (5, 11 9

4000

[ns]

T nup.bb/e+ud /25
4246+ 0.0
-35.5+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (511,13

4000 e ,,0

[ns]

T nui oyze+ud [ 25
4238+ 0.0
pl -36.77 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (5, 11 2)

- C = 29.98 [ps/ch]

© i suse+ud [ 25
) DO 4188+ 0.0
o pl -33.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 11,6

Trnuan il /3e+u4 [ 25
pe, pO 4239+ 0.0
[ pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X7 1 nuizb1Ye+u4 /25
- po 4251+ 0.0
- pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X 1nuiLa3/e+04 [ 25
e, po 4229+ 0.0
L pl -35.49 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

AT nuiL$3be+u4 [ 25
== po 4186+ 0.0
pl -33.26 + 0.00
[ C=30.07 [ps/ch] ™. ]
L L =
50 100
TP delay [ns]

TVC(cbch) (5 11,7

- pO

- nun1.89e+04 [ 25
4252+ 0.0
pl -36.57 + 0.00

TP delay

TVC(cbch) (511,11

e pO

[ns]

-1 nuiz.ugge+u4 / 25
4254+ 0.0
pl -35.84 + 0.00

TP delay

TVC(cbch) (511,15

e pO
p1

[ns]

T inui sble+ud / 25
4227+ 0.0
-35.4+ 0.0

TP delay

[ns]
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0

4000 =,

3000
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1000

TVC(CbCh) (5, 12 0)

TrnuLsLre+u4 [ 25
4185+ 0.0
-34.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.12,4

-1 z52e+04 | 25
P, pO 4205+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T, z1e+04 /25
= po 4202+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T i bs4e+04 / 25
pO 4216+ 0.0
pl -36.13+ 0.00

TP delay [ns]
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TVC(chh) (5,12,1)

AT rnunLszie+ud [ 25
P po 4220+ 0.0
p1 358+ 0.0

TP delay [ns]

TVC(cbch) (5,125

“ i role+u4 [ 25
e, pO 4209+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

TVCEebeh)=(5, 12,9

T nug. r34e+04 / 25
= po 4215+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (512,13

- T nui sebe+ud 25
- pO 4198+ 0.0
pl -35.62+ 0.00

TP delay [ns]
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4000 =,
3000
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TVC(CbCh) (5,12,2)

- C = 29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

- 1L b04e+04 / 25
[F-e. pO 4211% 0.0
[ pl -36.33+ 0.00

A~ 1nui419e+04 /25
__— po 4194+ 0.0
[ p1 -34.09+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

©nubsge+ud | 25
4242+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (5.12, 14

~1nuiLg44e+04 / 25
4201+ 0.0
-35.6 + 0.0

PR IR SRR |
50 100

TP delay [ns]
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TVC(Cbch) (5,12,3)

AT rnuiL4rve+ud [ 25
P po 4197+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

-1 nun bg3e+u4 / 25
- pO 4222+ 0.0
pL -36.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(5, 12, 11

Tonai g r3e+u4 /25
= po 4237+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (512,15

- Tonan1ae+u4/25
pO 4206+ 0.0
-35.43+ 0.00

TP delay [ns]
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TVC(CbCh) (5, 13 0)

T, (49e+04 [ 25
o, pO 4293+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

- 1L 321e+04 ] 25
[, pO 4231+ 0.0
pl -36.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T L4 rze+04 [ 25
[Foane PD 4270+ 0.0
-34.23+ 0.00

[ C=29.21 [ps/ch] ™.

1
0 50 100

TP delay [ns]

TVC(cbch) (513,12

T rnuiLb10e+u4 / 25
- po 4237+ 0.0
pl -35.16 + 0.00

TP delay [ns]
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TVC(chh) (5,13,1)

AT rnuzr13e+u4 /25
e po 4285+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

=1 nui 4u8e+04 / 25
4219+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

~ 1 nu.ybse+ud / 25
- po 4306+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(cbch) (513,13

TinuiLgsie+ud [ 25
- pO 4240+ 0.0
pl -35.33+ 0.00

TP delay [ns]
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TVC(CbCh) (5,13,2)

A~ 1nuigozze+V4 /25
e, po 4300+ 0.0
[ p1 -37.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (5.13,6

=1 nurL buse+u4 / 25
po 4249+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

Tz 3oze+u4 | 25
- po 4318+ 0.0
: pl -35.28 + 0.00

- C = 28.34 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

T Loze+ud /25
- pD 4245+ 0.0
| pl -35.49+ 0.00

TP delay [ns]
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TVC(Cbch) (5,13,3)

po 4311+ 0.0
pL -36.76+ 0.00

AT 1 nuz.zsve+ud [ 25

TP delay [ns]

TVC(c, bch) (5,137

un 8493 /25
[=s, po 4261+ 0.0
pl -37.34+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 1

- pO
pl

-

T onai r3ze+04 /25
4321+ 0.0
-35.17 + 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

pL -35.56+ 0.00

= po

1 nuiL boye+u4 [ 25
4253+ 0.0

TP delay [ns]
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TVC(CbCh) (5, 14 0)

T rnusp41e+04 /25
P oeea. pO 4242+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

T rnuiL431e+04 / 25
pO 4246+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T, rgre+u4 | 25
= po 4206+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (514,12

1 nuiLyove+u4 / 25
- po 4287+ 0.0
pl -37.46 + 0.00
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TP delay [ns]
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TVC(cbch) (5,14,1

AT 1 nuis.p4ve+u4 25
oaee po 4235+ 0.0
pl -35.67 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

=11 499e+04 / 25
- pO 4258+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

T naig1z29e+u4 / 25
= po 4238+ 0.0
p1 -34.89 £ 0.00

TP delay [ns]

TVC(cbch) (5.14,13

T 1 nui gyae+ud / 25
e, pO 4272+ 0.0
pl -36.29 + 0.00

TP delay [ns]
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TVC(CbCh) (5, 14 2)

- C = 28.05 [ps/ch

~rnugyl4e+ud [ 25
_-_ pO 4245+ 0.0
[ p1 -35.66 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

©1nuiL443e+04 | 25
- pO 4251+ 0.0
- pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

T zz/e+04 /25
e, po 4239+ 0.0
o pl -34.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (5. 14,14

1000

T rnuiLgs1e+u4 / 25
- pD 4262+ 0.0
L pl -36.18 + 0.00

TP delay [ns]
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TVC(Cbch) (5,14,3)

AT rnusyize+ud [ 25
— po 4237+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(c, bch) (5,14, 7

-1 nui /44e+04 | 25
- pO 4279+ 0.0
pL -36.11+ 0.00

TP delay [ns]

TVC(cbch) (5,14, 11

T nuigzzze+04 [ 25
= po 4238+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (5.14,15

Tnuis13e+ud [ 25
- pO 4265+ 0.0
p1 -35.95+ 0.00

TP delay [ns]
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TVC(CbCh) (5, 15 0)

po

pl

©riuiL4yse+u4 [ 25
4201+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 4

pO
pl

-1 nuiL434e+04 / 25
4196+ 0.0
-35.78 + 0.00

1
100

TP delay [ns]

TVC(cbch) (5, 15 8

pD

p1

- rnu z.5pe+u4 [ 25
4224+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(Cbch) (5, 15 12

- rnuz5 9e+u4 [ 25
4225+ 0.0
-34.75+ 0.00

TP delay [ns]
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TVC(c,b ch) (5, 15,

F. po

p1

1)

AT 1w,/ (oe+u4 [ 25
4186+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5,15,

pO
pl

5

-1 nui 424e+04 [ 25
4206+ 0.0
-35.74 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 15

<1 nui/190e+u4 / 25
4248+ 0.0
-37.3+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (5, 15 13

- pO

T inuzgu/e+ud [ 25
4226+ 0.0
-36.22+ 0.00

TP delay [ns]
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0

TVC(CbCh) (5,15,2)

[Free, PO

X~ 1wy 4e+04 | 25
4211+ 0.0
p1 -36.68 + 0.00

TP delay

TVC(Cbch) (5, 15 6

pD
pl

[ns]

S i rzoe+V4 [ 25
4219+ 0.0
-36.83 + 0.00

TP delay

TVC(e,b,ch)=(5, 15, 10

F= F’O

[ns]

- i 18 e +04 | 25
4246+ 0.0
p1 -36.64 + 0.00

TP delay

TVC(CbCh) (5, 15 14

= P"

[ns]

-1z z8re+V4 [ 25
4234+ 0.0
pl -37.56 + 0.00

TP delay

[ns]
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TVC(Cbch) (5,15,3)

X

po
pL

1 nuiLbrae+u4 | 25
4214+ 0.0
-35.94+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (5, 15 7

pO
pl

=1 Ui bbbe+u4 / 25
4215+ 0.0
-35.93+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, 15 11

pO

pl

T nuiL ryoe+u4 [ 25
4256+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 15

-1z suBe+u4 [ 25
4221+ 0.0
-35.35+ 0.00

TP delay [ns]
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TVC(cbch) (6,0,0

A7 nun ssse+u4 [ 25
P s po 4151+ 0.0
p1 -34.06 + 0.00

TP delay [ns]

TVC(cbch) (60,4

-z, 01ze+04 | 25
o, pO 4171+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

© 1, foge+U4 | 25
[oane PD 4178+ 0.0
pl -36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

1z 500e+04 / 25
= po 4209+ 0.0
pl -35.34+ 0.00

TP delay [ns]
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TVC(cbch) (6,0,1

x- 1 iz Ozae+ud | 25
e po 4167 + 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

“nu [z2oe+u4 [ 25
P pO 4182+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 naiLzu3e+u5 / 25
4197+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(C, bch) (6,0,13

~ 1 nuiz.asoe+ud [ 25
E. pO 4204+ 0.0
pl -35.69+ 0.00

TP delay [ns]
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TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

K™ 1 nuiz.ugve+ud / 25
e po 4172+ 0.0
L pl -34.93+ 0.00

T2y ge+ud | 25
4198+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (6, 0 10

©1nuy.y4e+u4 | 25
- po 4216+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

© 1z gose+ud | 25
E. pD 4199+ 0.0
L pl -35.18+ 0.00

TP delay [ns]
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1000

TVC(cbch) (6,0,3)

AT rnuizziie+ud /25
P s po 4186+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- nu /39e+u4 / 25
o, pO 4204+ 0.0
pl -34.79.+ 0.00

[ C =28.74 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T e, /me+u4/25
E po 4221+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
5}

T inuizag/e+u4 /25
4215+ 0.0
p1 -35.97 + 0.00

TP delay [ns]
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TVC(cbch) (6,1,0)

AT nui g roe+04 /25
po 4176+ 0.0
p1 -36.96 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- 1z, O3e+04 / 25
pO 4178+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

T L gsze+u4 [ 25
P, po 4199+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (61,12

T, ruse+u4 / 25
= po 4199+ 0.0
pl -35.74 + 0.00

TP delay [ns]
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TVC(cbch) (6,1,1

AT 1 nuLyuse+ud [ 25
P e po 4196+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

— -1 nu.b3le+ud / 25
E pO 4163 0.0
p1 -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 1,9

~nuy.zule+ud [ 25
= po 4232+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— T nai ryve+ud / 25
= pO 4194+ 0.0
pl -35.56 + 0.00

TP delay [ns]
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TVC(cbch) (6,1,2)

A7 nun s4se+04 / 25

Frcee po 4212+ 0.0
L pl -37.94+ 0.00

TP delay [ns]

TVC(cbch) (61,6

- 1nuig,u11e+ud / 25
- pO 4198+ 0.0
[ pl -36.11+ 0.00

TP delay [ns]

TVC(cbch) (6, 1 10

T nug.us4e+ud [ 25
o=, po 4245+ 0.0
- pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (61,14

T ro3e+u4 / 25
4192+ 0.0
-35.11+ 0.00

PR IR SRR |
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TP delay [ns]
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1000

TVC(cbch) (6,1,3

AT rnuiLyzie+ud [ 25
po 4196+ 0.0
pl -37.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- nug 1z8e+04 / 25
- pO 4192+ 0.0
p1 -34.81% 0.00

TP delay [ns]

TVC(c,b ch) (6, l

AL 555e+u4/25
- po 4255+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- T nuiysye+ud [ 25
pO 4200+ 0.0
p1 -35.69+ 0.00

TP delay [ns]



TVC(ebeh)=(6,2,0) TVC(ebeh)=(6,2, 1) TVC(ebeh)=(6,2,2) TVC(ebeh)=(6,2,3)
X~ 1 iz juaerud | 25 x- 1 iz 2ave+ud | 25 x- 1 L Syserud | 25 x- 1z ave+U4 | 25
4000, po 4201% 0.0 00k, po 4211+ 0.0 4000, po 4210+ 0.0 4000, po 4214+ 0.0
pl -37.47  0.00 pL -36.1 0.0 3 pl -35.46 + 0.00 pL -36.52  0.00
3000 7 3000 - 3000 ] 3000 -
2000 B 2000 4 2000 ] 2000 B

1000 1000 1000

wol ¢ = 28.20 [ps/ch

0, —L 1 1 1 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.2,4) TVC(cbch) (6.2,5) TVC(cbch) (6.2,6) TVC(cbch) (6.2,7)
T rnanz2.z4e+04 1 25 S nunz.z4e+04 [ 25 Tz 18/e+04 [ 25 - nuZ33e+u4 / 25
4000 pO 4216+ 0.0 4000 g, pO 4221% 0.0 4000 [, pO 4237+ 0.0 4000 pO 4251% 0.0
pl -35.93+ 0.00 pL -36.22:+ 0.00 3 pl -35.82+ 0.00 pL -36.27+ 0.00
3000 [ B 3000 E a000f- 3 3000 E
2000 E 2000 - 2000 — — 2000 g
10k C 1 1000 . wof C = 27,92 [ps/ch . 1000 1
1 1 - 1 1 -
50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,2,8) TVC(c,b ch) (6,2,9) TVC(c,b, ch) (6,2,10) TVC(c,b ch) (6,2,11)
T nu1r3e+u4 /25 T rnug ib1e+u4 / 25 T UL pbre+ud /25 T bple+u4 [ 25
4000 fome, pO 4222+ 0.0 4000 fae, pO 4265+ 0.0 4000 fome, DO 4265+ 0.0 4000 fs p0 4278+ 0.0
pl -35.05+ 0.00 pL -37.08+ 0.00 L pl -35.913 0.00 pL -36.84+ 0.00

3000 - 3000 1 3000 - 3000 -1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(621 ) TVC(cbch)(6213) TVC(Cbch)(621 ) TVC(cbch)(6215)
Tz zose+ud | 25 T ysse+u4 [ 25 T L ygse+ud [ 25 T rwiz.uare+u4 | 25
4000 pO 4214+ 0.0 4000 pO 4240+ 0.0 4000 4227+ 0.0 4000 [, pO 4246+ 0.0
pl -34.97 + 0.00 pl -36.64 + 0.00 r -35.4+ 0.0 pl -35.82+ 0.00

3000 -1 3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000

1000 - 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (6,3,0

AT 1nuiLorve+ud /25
Froesa po 4198+ 0.0
pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (63,4

- 1L Bule+ud / 25
b pO 4231% 0.0
pl -37.52:+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

T z.4ze+04 /25
- po 4237+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (6,3 12

T/ rse+u4 | 25
= po 4237+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

X~ 1oe+ud /25
Foase po 4203+ 0.0
pL -36.98+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

~nui r4ze+04 [ 25
pO 4234+ 0.0
p1 -36.48+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

Tinuy.31/e+u4 /25
- po 4255+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(C, bch) (63,13

Tinairo/e+ud [ 25
= pO 4225+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (6,3,2)

X I'U'lb((e+U4/25
_=_ po 4215+ 0.0
o pl -36.79.+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

- rnunLg1ze+u4 [ 25
- pO 4239+ 0.0
[ 362+ 0.0

TP delay [ns]

TVC(cbch) (6, 3 10

T nuig,188e+U4 / 25
- po 4284+ 0.0
L pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,3 14

TrnuiLygr1e+u4 /25
4227+ 0.0
-36.21+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1L buse+ud /25
- po 4218+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui ygze+u4 / 25
- pO 4249+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 3

ERALEVX baue+u4/25
- po 4263+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nui szse+ud [ 25
e pO 4244+ 0.0
pl -36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

K™ nui ozze+V4 /25
.. po 4200+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (64,4

T b /e+ud [ 25
e, pO 4188+ 0.0
pL -34.12+ 0.00

[ C =29.31 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T rnuz.zge+u4 | 25
= pO 4191+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (64,12

T rnuiLoE1e+U4 / 25
F=. 4224+ 0.0
-33.63+ 0.00

[C=29.74 [ps/ch] . ]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuiLbzze+ud [ 25
P, po 4179+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

=i b3be+u4 / 25
- pO 4187+ 0.0
p1 -34.88+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nug. 1oe+ud / 25
= pO 4211+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

T inan g ooe+ud [ 25
= pO 4222+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

AT 1nui g rae+04 /25
_- po 4193+ 0.0
L pl -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (64,6

-1 i babe+u4 [ 25
e pO 4191 0.0
[ pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

©1nuizuave+ud | 25
__ DO 4243+ 0.0
- pl -34.9+ 0.0

TP delay [ns]

TVC(cbch) (64,14

T rnuiLgo/e+04 /25
- pD 4230+ 0.0
| pl -33.75+ 0.00

- C = 29.63 [ps/ch]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1 nuiL rooe+ud [ 25
.. po 4208+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

C a1 rge+u4 | 25
- pO 4202+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T, /bbe+U4/25
= po 4228+ 0.0
pl -33.92+ 0.00

[ C =29.48 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

-1 nuiqpae+ud [ 25
= pO 4227+ 0.0
p1 -34.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nuigzie+ud [ 25
e po 4205+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(cbch) (65,4

-1 24z2e+04 [ 25
Faase po 4200+ 0.0
pl -34.19 + 0.00

[ C =29.25 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

-z ose+ud [ 25
= po 4219+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(cbch) (65,12

T rnuizusse+ud | 25
= po 4228+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT 1 nuiLb1oe+u4 [ 25
k.. po 4216+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

“nun3ve+ud [ 25
. 4197+ 0.0
-34.02 + 0.00

[ C =29.39 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

T nun. y1ze+ud [ 25
4216+ 0.0
-35.3+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

Tinuzs/e+ud [ 25
= pO 4251+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

X~ 1L 7 rse+u4 [ 25
- po 4227+ 0.0
[ p1 -36.51+ 0.00

3000

T g z3ze+u4 | 25
fo, pO 4211% 0.0
[ p1 -34.14 + 0.00

FC =29.29 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

1000

1 nuig.4yoe+u4 | 25
- po 4245+ 0.0
[ p1 -35.72+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T g szae+04 | 25
F-. pD 4224+ 0.0
L pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiL5yye+u4d [ 25
- po 4213+ 0.0
pL -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

= nun SuYe+u4 /25
= po 4213+ 0.0
p1 -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T, 4bue+u4/25
4250+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 5 15

S rnuzzfre+ud [ 25
- pO 4238+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

AT 1nui/14e+04 /25
po 4199+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- 1L 6U1e+V4 / 25
e pO 4184+ 0.0
pl -35.05+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

1 nuiLgz4e+04 | 25
po 4220+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

1L yoe+u4 / 25
pO 4236+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT rnunLrsoe+ud [ 25
- po 4209+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

- nui grge+u4d / 25
pO 4210 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

T nuiL313e+U5 / 25
po 4251+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

Tinai/71e+u4 /25
pO 4229+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (6,6,2)

AT nunssae+04 /25
po 4204+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (66,6

- i B3ge+u4 / 25
pO 4197+ 0.0
pl -35.49+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (6, 6 10

T nuig.zzoe+u4 | 25
po 4262+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (6,6,14

T i, ro5e+U4 / 25
pD 4226+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

A1 Suae+ud | 25
po 4217+ 0.0
pL -35.44 + 0.00

C =28.22 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nui Y4pe+u4 / 25
pO 4209+ 0.0
pL -35.92:+ 0.00

TVC(c,b ch) (6, 6

50 1(;0
TP delay [ns]

AL 5bze+u4/25
pO 4259+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(C, bch) (6,6, 15

<1 nui pyae+ud [ 25
po 4240+ 0.0
p1 -36.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

A7 1 nui oose+ud /25
4189+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pL

- 1 i Babe+ud / 25
4201+ 0.0
-34.75+ 0.00

% T
TP delay [ns]
TVC(cbch) (6, 7 8
= po

p1

3.3e+04 /25
4210+ 0.0
-35.97 + 0.00

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

T 19ve+ud /25
4257+ 0.0
-36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

e, po

p1

AT rnuiLbrye+ud [ 25
4212+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nui byle+ud / 25
4213+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

e, po

pl

-1 naiLzuze+U5 / 25
4229+ 0.0
-36.44+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

e, pO
p1

T nuiz 1ove+ud / 25
4251+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

e, po

pl

A7 1 nui oose+u4 / 25
4218+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (67,6

== po

p1

~ i ro4e+04 [ 25
4220+ 0.0
-35.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

= o

©1nuzb1ve+ud | 25
4254+ 0.0
-37.11+ 0.00

pl

TP delay [ns]

TVC(cbch) (67,14

1000

F= b
pl

1 nuiLyype+u4 / 25
4255+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3)

po
pL

AT 1L bose+ud [ 25
4218+ 0.0
-35.53+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,7

pO
pl

-1 nui Y3pe+u4 / 25

4220+ 0.0
-34.53 % 0.00

[ C =28.96 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 7

T u4e+u4/25
4263+ 0.0
-37.5+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (67,15

-1 nui yyae+ud [ 25
4264+ 0.0
-36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

AT inuzyrse+ud /25
- po 4185+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,84

=i bu5e+u4 / 25
4271+ 0.0
-38.91+ 0.00

50 100 =
TP delay [ns]

TVC(cbch) (6 8,8

T L bsse+U4 / 25
= po 4215+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T bzze+04 [ 25
= po 4224+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1 nus.usse+u4 [ 25
Foase po 4182+ 0.0
pl -34.77+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

“1nu.4/8e+04 / 25
e pO 4253+ 0.0
pL -37.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

T inuig1/ve+ud [ 25
4223+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(C, bch) (6,813

T nuiLp3ae+ud 25
= pO 4236+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

A 1nuiguLie+ud / 25
P po 4207+ 0.0
N p1 -35.04 + 0.00
[ C =28.54 [ps/ch 7]
- 1 1 -
50 100
TP delay [ns]
TVC(cbch) (6 8,6)
~ Ui fbbe+u4 / 25
- pO 4265+ 0.0
-38.2+ 0.0

TP delay

TVC(cbch) (6, 8 10

- o

[ns]

T nuz.4z3e+04 | 25
4255+ 0.0
-35.3+ 0.0

TP delay

TVC(cbch) (6,814

[ns]

T, 4ze+04 [ 25
4224+ 0.0
pl -34.74 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

E po

AT s, lute+ud [ 25
4210+ 0.0
-35.76 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

P pO
pl

-1 nug 140e+04 / 25
4284+ 0.0
-37.94+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T azse+u4/25
4262+ 0.0
-35.07 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

T nui rbye+ud [ 25
4233+ 0.0
-35.18 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A7 nuz usse+ud [ 25
Focea po 4216+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (69,4

- i B34e+04 / 25
o pO 4239+ 0.0
p1 -35.24+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

©1nuzbo3e+u4 [ 25
- po 4223+ 0.0
pl -35.11+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

~ L suve+u4 / 25
= po 4240+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT nuLsse+u4 [ 25
Fraee po 4222+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

- nui oBe+u4 [ 25
pO 4252+ 0.0
pL -35.88+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

T inun, 712e+04 /25
- po 4235+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (69,13

T nuiLayse+ud [ 25
= pO 4237+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000
3000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (6,9,2)

- C = 26.53 [ps/c

A~ 1nuig 1zye+04 /25
po 4239+ 0.0
pl -37.7+ 0.0

TP delay [ns]

TVC(cbch) (69,6

-1 nui4p9e+04 [ 25
- po 4261+ 0.0
[ 358+ 0.0

3000

TP delay [ns]

TVC(cbch) (6, 9 10

1000

T nuig104e+04 / 25
-, po 4262+ 0.0
- pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

~ 1 nuiLbEYe+u4 / 25
. pD 4251+ 0.0
L pl -36.67 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT 1L Booe+u4 [ 25
o= po 4244+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

~ 1 nui 84ve+u4 / 25
- pO 4278+ 0.0
pL -36.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T, 1/5e+u4/25
- pO 4274+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (69,15

T nui v4ye+ud [ 25
- pO 4260+ 0.0
p1 -36.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T rnuiLsUse+u4 / 25
- pO 4207+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

-1 nuz,usze+ud [ 25
e, pO 4216+ 0.0
p1 -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

© i, ro9e+U4 [ 25
= pO 4221+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

T rnuizuzie+u4 | 25
= po 4229+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

e, po

p1

A7 1 nuiLyube+ud /25
4209+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c, bch) (6,105

- pO

“rnuiLyr1e+u4 / 25
4220+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

e, po

pl

T nui sg3e+u4 / 25
4224+ 0.0
-36.02 + 0.00

TP delay [ns]

TVC(cbch) (610,13

pO
p1

T inuiLyise+ud [ 25
4230+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

1000

A7 1 nuiLsyye+u4 / 25
_=_ po 4221+ 0.0
- pl -36.39+ 0.00

3000

-1 nuz,u9ve+ud / 25
- pO 4229+ 0.0
[ pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T zp3e+ud /25
- po 4251+ 0.0
F pl -37.05 + 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~rnuiLy4se+U4 / 25
. pD 4232+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT 1 nuiLyube+u4 [ 25
po 4215+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(c, bch) (6,10, 7

S nuizal1e+ud [ 25
- pO 4233+ 0.0
p1 -36.46 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

Tinuzyr3e+ud [ 25
4264 £ 0.0
-37.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,10,15

-1 nuiz.yuye+ud / 25
= pO 4239+ 0.0
p1 -35.7+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

K™ 1 nuiz.upbse+ud / 25
oeea po 4225+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (6,11,4

- 1L 5g3e+04 / 25
P e, pO 4184+ 0.0
pl -36.26 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 11 8

Tz 138e+04 / 25
- pO 4231+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (6,11, 12

K71 nui oyle+ud / 25
- PO 4253+ 0.0
pl -34.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,11,1)

[ C =28.93 [ps/ch]

AT 1 nuLyioe+ud /25
A po 4223+ 0.0
pl -34.56 + 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (6,11,5

-1 nuLoE3e+U4 25
P, DU 4199+ 0.0
pl -37.27+ 0.00

TP delay [ns]

TVC(eh.eh)=(6, 11, 9

[ C =28.95 [ps/ch] ]

Tinun.z1/e+u4 [ 25
= 4219+ 0.0
-34.55 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,11,13)

[ C =28.77 [ps/ch]

Tinun g ooe+ud [ 25
- pO 4252+ 0.0
pl -34.76 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

K™ 1 nuiLyuse+ud / 25
_-_ po 4241+ 0.0
- pl -35.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,116

T i rz9e+04 [ 25
- pO 4207+ 0.0
3 pl -36.98+ 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

1000

X~ 1 nug.uyze+ud [ 25
- po 4251+ 0.0
L pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (6,11, 14

K™ 1 nuiLo1ye+ud / 25
- po 4269+ 0.0
L pl -35.8 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,11,3)
- po

pl -36.81+ 0.00

AT 1nuzzae+04 [ 25
4248+ 0.0

TP delay [ns]

TVC(cbch) (6,11,7

- pO 4215+ 0.0
pL -36.01% 0.00

- nu 138e+04 / 25

50 1(;0
TP delay [ns]

TVC(e.b.eh)=(6, 11, 11)

-

Tinuizzae+04 25
4254+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(cbch) (611,15

pO 4267+ 0.0

i bz4e+u4 [ 25

35.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T Lo sse+u4 [ 25
Froeea pO 4182+ 0.0
p1 -34.56 + 0.00

TP delay [ns]

TVC(cbch) (6.12,4

- i bzye+ud | 25
k. pO 4233+ 0.0
p1 -37.75+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

1 nuiLguBe+U4 / 25
= po 4199+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T roze+u4 / 25
e po 4228+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT rnuLulye+ud /25
e po 4192+ 0.0
p1 337+ 0.0

[ C =29.67 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

~nui rz9e+u4 [ 25
Fomes, po 4228+ 0.0
pL -36.96 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 9

Tonanuse+ud | 25
= po 4225+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (612,13

~ 1 nuipuze+ud / 25
pO 4224+ 0.0
pl -34.94+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

A7 1 nuiouoe+u4 / 25
_l'_ po 4190+ 0.0
- pl -33.72+ 0.00

T Bz/e+u4 [ 25
F po 4221 0.0
[ pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

Tz, rz8e+04 | 25
4242+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T r3e+ud /25
F pD 4234+ 0.0
L pl -34.41+ 0.00

- C = 29.06 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT 1L obze+ud [ 25
F po 4217+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c, bch) (6,127

-1 nui BUse+u4 / 25
- pO 4260+ 0.0
p1 -38.34+ 0.00

1=
50 100
TP delay [ns]

TVC(eh.ch)=(6, 12, 11

-1 nuiz.usge+ud / 25
- pO 4265+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(cbch) (6,12,15

71 nui boe+ud / 25
= pO 4211+ 0.0
-34.41+ 0.00

[ C =29.06 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
Tonun L sbe+ud /25 AT 1 nuiLy3se+u4 / 25 LAl Bo3l/25 A~ 1 huiLbYoe+u4 / 25
4000, pO 4200 0.0 4000, po 4210+ 0.0 4000, ' po 4208+ 0.0 4000, po 4214% 0.0
Pl -36.87+0.00 Pl -36.88+ 0.00 L Pl -36.42% 0.00 Pl -36.45: 0.00

3000

-1 3000 = 3000 = 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 N 1000 = 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

“ g m?zseﬂjd 125 Tnar g d?ze+04/25 “ g G‘J)be+U4 125 S| Ul?:JEH)A/ZS
4000 4000 4000 4000

"sase 4162+ 0.0 =) DU 4165+ 0.0 [, pO 4170+ 0.0 pO 4194+ 0.0
356+ 0.0 pL -36.04 % 0.00 i pl -35.56 % 0.00 pl -35.79. 0.00

3000 1 3000 - N 3000 - B 3000 -

2000 — 2000 [ N 2000 ] 2000 7

1000 1 w00 C = 27.75 [ps/ch ] woor C =28.12 [ps/ch ] 1000 ]

1 1 ! 1 1 - E 1 1 =
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(ep.ch)=(6,13,11)
© 11Uy puYe+u4 / 25 T 3zbe+U5 / 25 T, (1be+u4 / 25 <1 gbbe+u4 [ 25
A000R., pO 4199+ 0.0 4000 pO 4233+ 0.0 4000 [, DO 4217+ 0.0 4000, p0 4236+ 0.0
pl -34.88:+ 0.00 pL -35.39+ 0.00 3 pl -34.06+ 0.00 pL -36.28+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wof C = 29.36 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,13, 12 TVC(cbch) (613,13 TVC(cbch) (6,13, 14 TVC(cbch) (6,13,15

Tz 1z5e+04 | 25 T nuizybse+ud / 25 Trnwizale+ud /25 T nuiz 13ve+ud [ 25
4000, PO 4210+ 0.0 4000 4182+ 0.0 4000 [ PD 4201+ 0.0 4000 PO 4201+ 0.0
-35.23+ 0.00 -34.35+ 0.00 F pl -34.93+ 0.00 pl -35.37+ 0.00
3000 -1 3000 - 3000 - 3000 .
2000 B 2000 |- E 2000 - 2000 -
1000 B L _ . 1000 . 1000 -
1woor C = 29.12 [ps/ch] r ]
- - L
- -
P I P T
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

© i sy4e+U4 [ 25
.. pO 4200+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,144

T L 3/ze+04 [ 25
- pO 4203+ 0.0
p1 -35.44+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.46 [ps/ch]

T 1nuiz407e+04 [ 25
= po 4182+ 0.0
pl -33.94 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

~rnuiL4zoe+u4 / 25
- po 4210+ 0.0
pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

AT 1 nuiLsyve+ud [ 25
P, po 4200+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (6,145

-1 nui 339e+u4 / 25
4209+ 0.0
-36.6 + 0.0

50 1(;0
TP delay [ns]

TVC(ebeh)=(6, 14,9

[ C =29.27 [ps/ch]

T nup.151e+u4 / 25
- pO 4204+ 0.0
p1 -34.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

Tinaiag/e+ud [ 25
- pO 4194+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

K™ 1nuiso1e+04 /25
_- po 4204+ 0.0
L pl -35.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

- rnuibzze+u4 [ 25
- pO 4221 0.0
[ pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

T z1e+u4 /25
= po 4212+ 0.0
- pl -34.12+ 0.00

- C = 29.31 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

~ i 1ove+u4 / 25
= pD 4215+ 0.0
L p1 -36.43 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT rnuiLzyre+ud [ 25
- po 4223+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c, bch) (6,14,7

-1 i bave+u4 / 25
- pO 4240+ 0.0
pL -37.01% 0.00

50 100
TP delay [ns]

TVC(ehch)=(6, 14, 11

T nui ozbe+u4 / 25
= po 4218+ 0.0
p1 -34.86 £ 0.00

TP delay [ns]

TVC(cbch) (614,15

T naiquse+ud [ 25
- pO 4204+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



TVC(CbCh) (6,15,0)

4000

3000

2000

1000

X~ 1o/ re+U4 /25
- po 4149+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(Cbch) (6, 15 4

4000

3000

2000

1000

- i bBle+ud / 25
— pO 4171 0.0
p1 -34.52:+ 0.00

TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

- i 75e+U4 [ 25
. pD 4212+ 0.0
p1 -34.03 0.00

[ C =29.39 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 12

4000

3000

2000

1000

T rnuiL4soe+u4 / 25
b po 4287+ 0.0
pl -37.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

A1 L0 /e+Ud | 25
Fe po 4151+ 0.0
pL -35.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 5

-1 nui blye+ud / 25
Fone pO 4184+ 0.0
-34.07+ 0.00

[ C =29.35 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (6, 15

T nu s38e+u4 / 25
4229+ 0.0
-34.56 + 0.00

[ C =28.93 [ps/ch] 7]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 13

T 1 nuiLpusbe+ud / 25
e pO 4280+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

A~ 1nui 49ye+04 / 25
Fe po 4157+ 0.0
L pl -35.3+ 0.0

3000

TP delay [ns]

TVC(c,b ch) (6, 15 6

T 1 s8e+u4 /25
P pO 4195+ 0.0
[ pl -34.98+ 0.00

- C = 28.59 [ps/ch

50 10'0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

- L n(Ze+U4 [ 25
- pO 4253+ 0.0
r pL -34.72.+ 0.00

- C = 28.80 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 15 14

- 1 i psze+u4 [ 25
b pD 4278+ 0.0
[ pl -36.34 + 0.00

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

A1 nuiLslse+ud [ 25
4175+ 0.0
pL -36.09:+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 15 7

4000 pO

pl

-1 nui bbye+u4 / 25
4199+ 0.0
-33.88+ 0.00

3000

2000 -

10 C = 29.52 [ps/ch]

50 00

TP delay [ns]

TVC(e,beh)=(6, 15, 11

4000 e pO

~ 1 nuiL4pYe+u4 / 25
4242+ 0.0
-34.1+ 0.0

3000 -

2000 =

lo00F C = 29.33 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (6, 15 15

4000 pm, PO

T inuior3e+ud [ 25
4286+ 0.0
p1 -36.84 + 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

A 1Ly rse+ud /25
- po 4194+ 0.0
p1 -36.58 + 0.00

TP delay [ns]

TVC(cbch) (70,4

S 1.93e+04 /25
4176+ 0.0
-34.41+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 0,8

-z ioue+ud [ 25
po 4200+ 0.0
-35.63+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (7,0,12

T rnuig.y4se+u4 | 25
= po 4238+ 0.0
pl -37.78+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,01

AT 1 nuiLyyze+u4 /25
F.. po 4195+ 0.0
p1 -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

~ 1 nuiLyase+u4 | 25
= po 4193+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

- hun. i3 re+U4 ] 25
- pO 4212+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, O 13

T nuis.agbe+ud [ 25
= pO 4232+ 0.0
pl -37.25+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

A~ 11 ysoe+ud [ 25

TP delay [ns]

TVC(cbch) (7,0,6

Fe po 4205 0.0
L pl -36.48 + 0.00

3000

T rnu Z.0oe+u4 [ 25
3 pO 4186+ 0.0
[ p1 -34.57 + 0.00

- C = 28.93 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(7, 0, 10

1000

0

- iz (5 re+Ud [ 25
-, po 4250+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 0 14

- 1 nug z9se+u4 [ 25
-, pD 4238+ 0.0
L p1 -38.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

A~ 1 nuiz, 1yse+ud | 25
Fuwe po 4198+ 0.0
pL -36.18:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

-1 nuz.0gBe+u4 / 25
e, pO 4211£ 0.0
p1 -35.01% 0.00

TP delay [ns]

TVC(c,b ch) (7, O

=g, )yqe+u4 125
e pO 4246+ 0.0
p1 -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O 15

- 5.45e+04 /25
o, pO 4246+ 0.0
pL -37.38+ 0.00

TP delay [ns]



TVC(c,b Ch) (7,1,0) TVC(c,b Ch) (7, 1 1) TVC(c,b Ch) (7,1,2) TVC(c,b Ch) (7,1,3)
X9 ser0a ] 25 i saerud 25 X 19ue+04 ] 25 X 1z oserud ] 25
4000, po 4177+ 0.0 000pL pO 4191+ 0.0 4000, po 4192+ 0.0 4000 m, po 4222+ 0.0
Pl -35.71% 0.00 Pl -36.56+ 0.00 b PL__ 3668+ 000 Pl -36.32 0.00

3000

4 3000 b 3000 T

=1 3000

2000 B 2000 ] 2000 2000

1000 E 1000 7] 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

- 1L BuYe+ud / 25 T 8roe+ud [ 25 T rnun 1 9oe+u4 [ 25 -1 nui g31e+u4 / 25
4000 pO 4222100 4000, DU 4218+ 0.0 4000 fm, pO 4232+ 0.0 4000 f, pO 4239+ 0.0
Pl -36.08+ 0.00 Pl 3551+ 0.00 L PL_ 3577+ 0.00 Pl -36.01% 0.00

3000 - 3000 f - 3000 - 3000 [ E

2000~ b 2000 |- E 2000 - - 2000~ N

1000 — L ] [~ _ ] 1000 E

C o ¢ wol C = 27.95 [ps/ch ] c
- - o - 4 -
- - - ] -
1 1 1 1 1 1 1 1
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
S, l)UAe+U4 125 EEALUICK 2&-}9&+U4/25 T 32&e+04/25 T z/)1e+u4/25
4000, pO 4227+ 0.0 4000 fme, pO 4237 0.0 4000 po 4249+ 0.0 4000 o pO 4263+ 0.0
Pl 35541 0.00 Pl -34.62 0.00 L pl -33.41 0.00 Pl -34.77:0.00
3000 B 3000 E 3000 ] 3000 B
2000 4 2000 E 2000k ] 2000 1
1000 ] wor C = 28.88 [ps/ch]™, ] ool € = 29.93 [ps/ch] ™. 1 wor C = 28.76 [ps/ch]™,
1 1 - [ 1 1 - 4 _1 1 -
50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(7112) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
T zaze+ud /25 T nuz suse+ud | 25 Trnuizzu/e+04 /25 <1 nuiz 19ve+ud [ 25
4000 pO 4225+ 0.0 4000 pO 4222+ 0.0 4000 PD 4226+ 0.0 4000 o, pO 42291 0.0
pl -35.26 + 0.00 pl -35.48+ 0.00 F pl -35.88 + 0.00 pl -35.33+ 0.00

3000

-1 3000 - - 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 [~

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A1,

ro1e+U4 /25
4206+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (72,4

- rnuLy1ze+ud / 25
4186+ 0.0
-35.36+ 0.00

P e pO
pl
e ]
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8
o pD

T 1nuiz4uie+u4 [ 25
4233+ 0.0
-37.54 + 0.00

p1

TP delay [ns]

TVC(cbch) (7,212

A1,

ryse+u4 /25
4215+ 0.0
-36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,2,1)

P PO

p1

AT 1 nunLsuye+ud [ 25
4191+ 0.0
-36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

- 1nu Zloe+u4 / 25
4206+ 0.0
-36.19 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

- po

pl

T nug.31ze+u4 /25
4237+ 0.0
-35.54 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

Tinuzyrie+ud /25
4213+ 0.0
-35.89+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,2,2)

[ oeee, po

pl

K™ 1 nuiobse+ud / 25
4199+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (7,26

Srnu1.zZ3e+04 [ 25
4189+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

- o

pl

©1nuiz.a44e+04 | 25
4254+ 0.0
-36.86 + 0.00

TP delay [ns]

TVC(cbch) (7,214

Tz 13ze+04 [ 25
4225+ 0.0
-35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3)

PSRl

[Fones, po

pl

r1e+ud |25
4213+ 0.0
-36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

pO
pl

-1 nu Zbye+ud | 25
4211+ 0.0
-36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T zb::e+u4/25
4260+ 0.0
-37.69 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

T inuiz 13ae+04 / 25
4230+ 0.0
-35.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A7 1 nui obae+ud / 25
po 4186+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- i ey1e+ud / 25
pO 4178+ 0.0
pl -35.67:+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

©rnuzunse+u4 | 25
po 4195+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (7,312

T Ly rse+u4 | 25
4216+ 0.0
-36.51+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

A7 1 nuiLbyoe+ud [ 25
- po 4195+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

~ 1 nui foze+u4 [ 25
4189+ 0.0
-36.4 + 0.0

TP delay [ns]

TVC(c,b ch) (7 3,9

Tinunpyle+ud [ 25
po 4214+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

T nui ssye+ud [ 25
pO 4206+ 0.0
pl -36.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

A7 1 nuiLsoae+u4 /25
P po 4202+ 0.0
o pl -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

1000

- L8 3e+04 ] 25
F pO 4193+ 0.0
L pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

a2 gyoe+u4 | 25
o=, po 4232+ 0.0
- pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (7.3 14

T L gsse+u4 [ 25
-, pD 4211+ 0.0
L p1 -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1L vase+ud [ 25
po 4202+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- nu uge+u4 / 25
- pO 4197 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T ztue+u4/25
e pO 4240+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

T nui gove+ud [ 25
po 4223+ 0.0
p1 36+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0

A7 1nug syie+ud /25
- po 4189+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

= 1 i bype+ud / 25
4212+ 0.0
-35.8+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,ch)=(7, 4,8

T 13/e+u4 /25
po 4213+ 0.0
pl -34.98 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

Tz r(e+ud /25
= po 4218+ 0.0
pl -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7.4,1

A1z Qave+Ua | 25
- po 4185+ 0.0
pL -35.24+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

“nui/71e+u4 [ 25
pO 4214+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

<1 nuiy govbe+ud 25
po 4233+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

T inuiz.z3oe+ud [ 25
pO 4225+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7.4,2)

A~ 1nugzioe+V4 /25
P po 4192+ 0.0
o pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,6

1000

- i, r88e+u4 [ 25
- pO 4225+ 0.0
[ pl -36.78 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

T 1nuigpule+ud / 25
- po 4249+ 0.0
L pl -34.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,14

© 1z 105e+04 / 25
- pD 4213+ 0.0
L p1 -35.86 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3

AT rnuzzsie+ud [ 25
oo, po 4197+ 0.0
pl -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

-1 nu Zobe+u4d / 25
- pO 4233+ 0.0
pL -36.98+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (7, 4

1)
T nuz ysse+ud [ 25
= pO 4251+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

T inuiz.a4ze+04 [ 25
= pO 4235+ 0.0
p1 -37.13+ 0.00

TP delay [ns]



TVC(cbch)(750) TVC(cbch)(751) TVC(cbch)(752) TVC(cbch)(753)
AT 1L 45/e+04 [ 25 A~ 1L byle+ud /25 AT 1L brze+ud [ 25 A~ 1L pyle+ud /25
4000, po 4187+ 0.0 4000, po 4194 0.0 4000, po 4213 0.0 4000 oy po 4219% 0.0
pl -35.06 + 0.00 pl -35.34+ 0.00 F pl -35.92+ 0.00 pl -35.7+ 0.0

3000

- 3000 -1 3000 =1 3000 -1

2000 -1 2000 =1 2000 = 2000

1000 - 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,54 TVC(cbch) (7,55 TVC(cbch) (7,56 TVC(c, bch) (7,57

-1 i bzze+u4 / 25 -1, 748e+04 / 25 ~ UL broe+ud / 25 T rhze+ud [ 25
4000 pO 4190+ 0.0 4000, pO 4210+ 0.0 4000 pO 4206+ 0.0 4000 o, pO 4217+ 0.0
Pl 3462+ 000 Pl 3566+ 000 [ P 3509+ 000 Pl -3541% 000

3000 ] 3000 4 3000 ] 3000 ]
2000 - 2000 E 2000 ] 2000 [ —
1000 - 1000 1 1000:— C =28.50 [ps/ch — woor C = 28.24 [ps/ch ]
1 1 - ] 1 1 - : 1 1 -
50 T00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 5,8 TVC(cbch) (7 59 TVC(cbch) (7, 5 10 TVC(cbch) (7, 5

1nuiz,0use+u4 / 25 T nu.pz/e+u4 [ 25 T rnug1u1e+u4 / 25 T o, 1b5e+u4/25
4000 PD 4207+ 0.0 4000 o, DO 4219+ 0.0 4000 - DO 4238+ 0.0 4000 pO 4242+ 0.0
pl -36.54 + 0.00 pl -36.89 + 0.00 I pl -36.61+ 0.00 pl -36.31+ 0.00

- 3000

3000 T 3000 . 3000 .

2000 -1 2000 N 2000 - 2000

1000 - 1000 - 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(751 ) TVC(cbch)(7513) TVC(cbch)(751 ) TVC(cbch)(7515)
~1nuiLy4pe+u4 / 25 Tonuar 1ye+ud /25 T rnuiLgole+u4 / 25 T inaigrae+u4 /25
4000 fm, pO 4239+ 0.0 4000 [, pO 4240+ 0.0 4000 e, PD 4243+ 0.0 4000 fues po 4228+ 0.0
pl -36.63+ 0.00 pl -36.77+ 0.00 : pl -37.23+ 0.00 pl -35.98 + 0.00

3000

. 3000 - 3000 1 3000 -1

2000 -1 2000 -1 2000 . 2000

1000 -1 1000 - 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

K71 nuiz.u40e+04 / 25
P oeea po 4227+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- i B3be+u4 / 25
Fome, pO 4207+ 0.0
p1 -35.46 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6,8

©1nug Zove+u4 | 25
= po 4189+ 0.0
p1 -34.07 + 0.00

I C =29.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

T Use+u5 /25
= po 4203+ 0.0
pl -32.52+ 0.00

[ C =30.75[ps/ch] ™ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1 nuLyzye+ud [ 25
e po 4230+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nuz.Usze+u4d [ 25
[Fomes, pO 4225+ 0.0
pL -35.89 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

~ 1 nui 345e+U5 / 25
= pO 4223+ 0.0
p1 -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (7.6,13

T nuiz.zoze+ud | 25
= pO 4236+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000
3000

2000

1000

TVC(cbch) (7,6,2)

AT 1nuzurse+ud /25
po 4224+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (7.6,6

T rnun2.38e+04 [ 25
4239+ 0.0
-36.3+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (7, 6 10

©1nug boze+u4 | 25
DO 4248+ 0.0
pl -35.92+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,14

1 nuiz4oe+04 / 25
DD 4249+ 0.0
-36.64 + 0.00

P
100

TP delay [ns]

TVC(cbch) (7,6,3)

4000 e,

3000

2000

1000

AT 1z unse+ud [ 25
po 4241+ 0.0
pl -36.59 + 0.00

TVC(c,b ch) (7 6,7

1
100

TP delay [ns]

4000 [Gm,

3000

2000 -

1000 C

- rnubu/e+u4 [ 25
pO 4252+ 0.0
pL -36.69+ 0.00

TVC(c,b ch) (7, 6

1(;0
TP delay [ns]

4000 oy

3000

2000

1000

EALER ‘Jbie+U4/25
po 4236+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 e

3000

2000

1000

T inuzbise+ud [ 25
po 4240+ 0.0
-35.68 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0)

A~ 1 nui540e+04 /25
po 4207+ 0.0
p1 -34.87+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- 1 nuiLaspe+04 / 25
_ pO 4204+ 0.0
p1 -34.92:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (7,7,8

- iz bave+ud [ 25
= po 4217+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

1 nuiz,uyoe+u4d | 25
= po 4224+ 0.0
pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

X1 i Save+Ud | 25
Fueee po 4220+ 0.0
pL -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (7 7,5

= nun 1bBe+u4 /25
F po 4215+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVCEebeh)=(7,7, 9

- /b, Zyse+ud | 25
- pO 4233+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 13

T 1 nuiz.uzye+ud | 25
- pO 4222+ 0.0
pl -37.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (7,7,2)

A~ 1w p4se+04 [ 25
o po 4219+ 0.0
[ p1 -35.15+ 0.00

- C = 28.45 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

- i bzoe+ud / 25
pO 4233 0.0
p1 -36.32+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

- nuizs5re+04 [ 25
- pO 4240 0.0
[ pl -36.43+ 0.00

0

TP delay [ns]

TVC(cbch) (7,7,14

T rnuiz413e+04 /25
4221+ 0.0
-36.81+ 0.00

P R TR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

po
pL

A1 nuiL ozse+ud [ 25
4224+ 0.0
-35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

=g,

- pO
p1

194e+04 | 25
4236+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

=, pO
pl

1)
T nuiLgb/e+u4 [ 25
4251+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7 15

T nuiz.1uae+u4 / 25
4222+ 0.0
-37.24+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

AT 1zse+04 /25
4163+ 0.0
pl -36.09 + 0.00

TP delay

TVC(cbch) (7,84

[ns]

-1 nuz,0use+ud / 25
4180 0.0
-35.75+ 0.00

Frcee pO
pl
e 4
% T
TP delay [ns]
TVC(c,b ch) (7, 8 8

pO
p1

T 33/e+04 /25
4196+ 0.0
-35.21+ 0.00

1
100

TP delay

TVC(cbch) (7,812

B pO

[ns]

~1nuiz.404e+04 / 25
4208+ 0.0
pl -37.35+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

. po

K™ 1 nuiz410e+04 [ 25
4178+ 0.0
pl -35.63+ 0.00

TP delay

TVC(c,b ch) (7 8,5

pO
pl

[ns]

= 11U Yobe+u4 / 25
4188+ 0.0
-36.11 + 0.00

50 1(;0
TP delay

TVC(c,b ch) (7 8,9

[ns]

- nun y.ave+ud | 25
4217+ 0.0
pl -35.93 + 0.00

TP delay

TVC(C, bch) (7.8,13

[ns]

-1 nuiz.asae+ud [ 25
4215+ 0.0
p1 -38.14 + 0.00

N PR Y
50 100

TP delay

[ns]

TVC(cbch) (7,8,2)

4000

3000
2000

1000

[ po

AT 1nuig z4ze+04 /25
4178+ 0.0
p1 -35.47 + 0.00

TP delay

TVC(cbch) (78,6

4000

3000

2000

1000

froese PO

p1

[ns]

- rnuz0ple+ud / 25
4194+ 0.0
-36.17 + 0.00

TP delay

TVC(cbch) (7, 8 10

4000

3000

2000

1000

pO
pl

[ns]

T nuig.s1ve+u4 / 25
4203+ 0.0
-33.62+ 0.00

F C = 29.74 [ps/ch]

0

1
50 100

TP delay

TVC(cbch) (7,814

4000

3000
2000

1000

[ns]

Trnuiz4le+u4 /25
4227+ 0.0
pl -38.37 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.8,3)

AT 1 nuz,1ase+u4 [ 25

P PO

pl

4178+ 0.0
-34.85+ 0.00

[ C=28.70 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 8,7

pO
pl

-1 nu buse+u4 / 25
4205+ 0.0
-36.65+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (7, 8

= pO

AR bzue+u4/25
4205+ 0.0
-34.98 + 0.00

TP delay [ns]

TVC(C, bch) (7.8,15

T inuizaroe+u4 [ 25
4226+ 0.0
-37.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0)

A1,

rspe+u4 [ 25
4179+ 0.0
-39.14 + 0.00

TP delay [ns]

TVC(cbch) (79,4

pO
pL

- rnuz,013e+u4 / 25
4186+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

S a3 r3e+u4 [ 25
4191+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

T rnuizu4se+ud | 25
= pO 4203+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000
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